Notations:

1.0ptions shown in green color and with v icon are correct.
2.0ptions shown in red color and with = icon are incorrect.

Question Paper Name:
Subject Name:
Creation Date:
Duration:

Total Marks:

Display Marks:

Share Answer Key With Déelivery
Engine:

Actual Answer Key:
Calculator:

Magnifying Glass Required?:
Ruler Required?:

Eraser Required?:

Scratch Pad Required?:

Rough Sketch/Notepad Required?:
Protractor Required?:

Show Watermark on Console?:
Highlighter:

Auto Save on Console?:

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :
Section Number :

Education Consultant India Ltd.

GRADE Il DASS 23rd July 2019 Shift 1
GRADE Il DASS

2019-07-23 12:36:56

120

200

Yes

No

Yes
None
No
No
No
No
No
No
Yes
No
No

Mental Ability1

1
586180312
0

0
No
No
0
20
No
Yes
0

0

Mental Ability1

586180316
1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180439
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861806503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to

first letter cluster.

ROGUE : ULIRB :: CASUAL : ?
Options:

1. v FXVRXO

7 % FYVRYO

3 % EXVRXO

4 % FXVQXO

Question Number : 1 Question Id : 5861806503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IF HEW - TAE T4 S AN N - WAEE ¥ W O ¥ iUT g U 9% ¥ gEU Hea-mEg Tee
e - THE ¥ TEOA 2

ROGUE : ULJRB :: CASUAL : 7
Options:

1. v FEXVRXO



2 % FYVRYO

3. » EXVRXO

4. = FXVQXO

Question Number : 2 Question Id : 5861806504 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number which is related to third number in the same way as the second number is related to first number.

2211:10::1423:7
Options:
1. = 27

Question Number : 2 Question Id : 5861806504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

IF T T S Ol TE ¥ 3@ e ¥ FET ¢, B e ¥ gl s ugelr wEw ¥ wEfia

2211 : 10 : 1423 . ?
Options:

1. = 27



4. v 30

Question Number : 3 Question Id : 5861806505 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four number pairs are similar in a certain manner while one 1s different. Choose the

odd one out.

Options:
1 % 442:84
)« 226:47
3 % 152:52
4. % 234:83

Question Number : 3 Question Id : 5861806505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 442 : 84

2 o 226 : 47



3. % 152 : 52

4. » 234 :83

Question Number : 4 Question Id : 5861806506 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a figure from the options figures that would complete the figure matrix.

(3% | 2
X< (AN
2| -

L =

2.

3.« —1

4. =

Question Number : 4 Question Id : 5861806506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 5861806507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four letter cluster pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:
1. ® FIXT: WALI

7 « LOGI:ORIM



3. % EXOD:GRAH

/4. % PILA:DOLS

Question Number : 5 Question Id : 5861806507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FIXT : WALI

2.« LOGI : ORJM

3. % EXOD : GRAH

4. % PILA : DOLS

Question Number : 6 Question Id : 5861806508 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures have.

Problem Figures

Options:



Question Number : 6 Question Id : 5861806508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Problem Figures
Options:



Question Number : 7 Question Id : 5861806509 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. » Haematology : Blood

2 x Cytology : Cells

3w Craniology : Skull



4. « Pedology : Soil

Question Number : 7 Question Id : 5861806509 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. « fedewer: ===

2y WIEES W
3. x FiAAEIST : T

A o SIS WS

Question Number : 8 Question Id : 5861806510 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Two different positions of the same dice are shown below. Which symbol is on the face opposite the face showing ‘177

‘J\h"\-\.‘_\‘b -"'\_H\-\MH
T
" i
D zj 45
e H"m_ "
H\““-,-"’J H‘"w"'-‘

Options:

1. %1

3.v 4



4 % 5

Question Number : 8 Question Id : 5861806510 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1, % 1

? = 2

3. v 4

Question Number : 9 Question Id : 5861806511 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following patterns of the dices can be formed when the sheet given below 13 folded?

A & A *
I
# | 3|l #
1 2 3 4
Options:

1. % Onlyland3

? % Only2and4

3  Only2. and3

4 = Alll.2 3and4

Question Number : 9 Question Id : 5861806511 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



T Yecd ofiT & Wies &FaT a1 &, 99 99 & YAt H ¥ i O Yeq a9 TohaT 87?7

A & A *
# | A (] # |
1 2 3 4
Options:

1. % Haer 1 3R 3

2 % FHaa 2 3R 4

3 o FaT23HT3

4. «» w12 334

Question Number : 10 Question Id : 5861806512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arbuda starts walking from her home and walks 78 m towards West. From there. she turns right and walks 22 m. Then
she turns right and walks 32 m. Then she turns right and walks 41 m. She again turns right and walks 34 m. She finally
turns left and walks 41 m. What is the shortest distance between Arbuda’s current position and her home?

Options:



1 % 80m

7 » 100m

3 % 120m

A % 140m

Question Number : 10 Question Id : 5861806512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T 39 R F T YE HAT & 3R 78 m IiRFH Fr 3R Tordr 1 T8 § IF % AWK g &
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Options:

1. = 80 m
2. v 100 m
3. % 120 m
A4 % 140 m

Question Number : 11 Question Id : 5861806513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which number will replace the question mark in the given matrix?

62 § |7|119

a5 | 1L 6| 2

Options:
1. = 168

7 % 164

3. v 170

4 = 172

Question Number : 11 Question Id : 5861806513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tecd HTedg H 93 e & T W Fia @ JEar ee?

°4| 7 |4 99
62| 8 |7]119

20| 11 |6 7
Options:
1. = 168

2 % 164



3. ¢ 170

4. = 172

Question Number : 12 Question Id : 5861806514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight friends K. L, M. N, O. P. Q and R are sitting around a circular table at equal distance from each other. K is exactly

opposite to O. L is sitting between M and P. P is facing N who is to immediate right of K. M and Q are facing each
other. Which of the following statement is NOT correct?

Options:
1. » LisfacingR.

2 % Kissitting between M and N.
3w Oissitting between P and Q.

4. « L is third to the left of K.

Question Number : 12 Question Id : 5861806514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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Options:

1. » L R & @& e 2

2 x K M3HRNF & 327 2l



S O, P 3T Q & &= dar gl

4 o L K% aE 3R && 51 1 E

Question Number : 13 Question Id : 5861806515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight persons P. Q. R, S, T. U. V and W are sitting around a circular table at equal distance from each other facing the

centre. If P is facing North - east then which direction is S facing?
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. South - east
7 South
3. North - west

4], North

Question Number : 13 Question Id : 5861806515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sEaFd P, QR ST U VIRWE IR - s mgmmam®
FTAF G WaS §1 T P e - @ fRar # 8, ar s fsw Rar 7 82

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



3 3edT - 9ivEH

Question Number : 14 Question Id : 5861806516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five teachers Arti, Lubna, Pratiksha, Rajesh and Vimal teach one of five subjects i.e. Physics. Chemistry, Botany.,
Zoology and Mathematics. Rajesh does not teach Chemistry and Zoology. Vimal does not teach Physics and Zoology.
Pratiksha does not teach Zoology and Physics. Lubna teaches Botany. Which subject is taught by Arti?

Options:

1. « Zoology

7 % Mathematics

3w Physics

4. % Chemistry

Question Number : 14 Question Id : 5861806516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1\,«3%3'%31?

2. = doEg



A, « TEAS @A

Question Number : 15 Question Id : 5861806517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are there in the figure given below?

Options:
1. = 42

2.“ 44

0
%

i
LA

4.34 46

Question Number : 15 Question Id : 5861806517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. » 42
2. = 44
3. v 45
4, = 46

Question Number : 16 Question Id : 5861806518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Four statements are given, followed by three conclusions. The symbols used in them have meanings as follows:
P @ Q means P is neither smaller than nor greater than Q.
P # Q means P is neither greater than nor equal to Q.
P & Q means P is neither smaller than nor equal to Q.
P % Q means P is not greater than Q.
P $ Q means P is not smaller than Q.

Now read the following statements and decide which of the conclusions is / are true.

Statements:

D@E

DA

A#B

C&D

Conclusions:
I. D$B
II. B%D
. C&E

Options:

1. % Only conclusion I is true.

2 % Only conclusion II is true.

3 Only conclusion III is true.

/. » OnlyIand III are true.

Question Number : 16 Question Id : 5861806518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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C&D
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Options:

1.« Haer @y | W@ g

2w FHae Ay || TEr g

3 o Faa fFswy I W@ g

A w Haer @y | AR I T E

Question Number : 17 Question Id : 5861806519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Three statements are given, followed by four conclusions numbered I to IV. Assuming the statements to be true even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow (s) from the

given statements.
Statements:

All cycles are vehicles.
Some vehicles are dustbins.

All packets are vehicles.

Conclusions:
I. Some dustbins are cycles.
II. Some cycles are packets.
III. Some vehicles are cycles.

I'V. No cycle is packet.
Options:
1. % Only conclusion II and III follow.

7 % Either conclusion IT or TV follows.

3 % Conclusion IIT and either I or I'V follows.

4. Conclusion III and either IT or IV follows.

Question Number : 17 Question Id : 5861806519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 5861806520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of six persons is to be selected from among five doctors. A, B, C, D and E, and five engineers. P. Q. R, S and T,

such that there are at most two engineers in the team and it meets the following criteria:
i. A and D must be together.
ii. B and R cannot be together.
iii. P and S cannot be together.
iv. Q and R must be together.
v. B and P must be together.

Which of the following teams can be formed?

1. BACDQR
2. PB5CDA
3. APEDBT
4. PDABEC
Options:
1. %= 1and3
? « 3and4
3 % Only3
4. = Only4

Question Number : 18 Question Id : 5861806520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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1. BACDQR

2. PBSCDA

3. APEDBT

4. PDABEC
Options:

1. = 1 3T 3

2. v 33R4

Question Number : 19 Question Id : 5861806521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Lecturer - Economics’ are as follow.
The candidate:

1. must have completed Ph.D. in Economics.
2. must have secured at least 75% marks in M.A. Economics
3. must not be less than 28 years and not more than 45 years of age as on 1 January 2019.

However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 1, but has passed UGC-NET in Economics, his/her case is to be referred to the Principal.
b. no. 3, but has obtained more than 90% marks in M.A. Economics, his/her case is to be referred to the Diractor.

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Dr. Yuvraj has passed UGC-NET in Economics and is pursuing Ph.D. in Economics. He was born on 22 March 1986.
He has obtained 90% marks in M.A. Economics.

Options:
1. #= Heis to be selected.

? % He is not to be selected.

3 His case is to be referred to the Principal.

/] % His case is to be referred to the Director.

Question Number : 19 Question Id : 5861806521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 5861806522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Doctors’ are as follow.
The candidate:
1. must have completed M.D. (Medicine) with more than 75% marks.
2. must have secured at least 85% marks in MBBS.
3. must not be less than 32 years and not more than 45 years of age as on 1 January 2019.
However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 2, but has got more than 90% marks in M.D. Medicine, his / her case is to be referred to the Head (HR).

b. no. 3, but has obtained more than 90% marks in both MBBS and MD (Medicine), his / her case is to be referred
to the Administrative Head.

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Dr. Arpit has obtained 91% marks in both MBBS and M.D. (Medicine). He was born on 14 January 1979.
Options:

1. v Heis to be selected.

? % He is not to be selected.

7 x His case is to be referred to the Head (HR).

/] = His case is to be referred to the Administrative Head.

Question Number : 20 Question Id : 5861806522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Mental Ability2

Group Number : 2

Group Id: 586180313
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 586180317

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 586180440
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861806523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?

Options:




Question Number : 21 Question Id : 5861806523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o smepfaat & & g & 3l geca e $ o sfafes geirer 82

Options:



Question Number : 22 Question Id : 5861806524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

tGUREdfhN98KScd

Options:



. pa>i8enribIduds

, . baeA8eNrtb3AuD]
5.« DIEN86NAtbIAVD]
2. ba8eUrdtbIALD]

Question Number Q uestion Id : 5861806524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Mark
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Question Number : 23 Question Id : 5861806525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight symbol - number clusters are given below three of which are same. Find the three clusters that are exactly same.

(A) #4%43 @8 T*%$34%4
B)#4%43 @7 8*%S$34%4
(C)#4%43@T T*%S34%4
D) #4%43@T"7*%S$34%4
(E)#4%43 @7 7*%#34%4
(F)#4%43@7"7*%$35%4
(G #4%53@T T*%S$34%4

H)#4%43@7"7*%S$34%4
Options:
1. » A CandE

9 % B.CandE

3 v C.DandH

4 % C.FandH

Question Number : 23 Question Id : 5861806525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A= 376 e - HEA F wAE AT v § A ¥ 99 wF wAE € Regd wAe 9 ®AHg AT #

A #4%43@8"7+%%$34%4
B) #4%43@7"°8+%%$34%4
C) #4%43@7°7+%534%4

4

D) #4%43@7"7+%%$34%
) #4%43@7"7+%#34%4
F) #4%43@7"7+%$35%4
G) #4%53@7°7+~%$34%4
H #4%43@7"7+%$34%4

Options:
1 « A C3HRE
2 % B, C3HRE
3.« C,D3HRH
4 % C, F3RH

Question Number : 24 Question Id : 5861806526 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the given figures, when fitted into each other would form a square? Select an appropriate combination from
the given options.

D\/Am
=

Options:




1. « BCEF

% % BCDF
3. v ABCF
/. x ABDF

Question Number : 24 Question Id : 5861806526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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—

F
Options:
1. = BCEF
2 % BCDF
3. v ABCF
A. = ABDF

Question Number : 25 Question Id : 5861806527 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
In the diagram given below, the pentagon stands for ‘doctors’, the triangle stands for ‘Salaried persons’, the rectangle

stands for ‘women’, and the oval stands for ‘morning walkers’. The numbers in different segments represent the number

of persons.

‘Which of following statement is NOT correct?
Options:

1. =

The number of doctors who are morning walkers and salaries persons but are not women is 24.

2 % The number of women doctors who are salaried persons but are not morning walkers is 8.

3. %

The number of doctors who are salaried persons but are neither women nor morning walkers is 20.

4 v

The number of salaried persons who are morning walkers but are neither doctors nor women is 24.

Question Number : 25 Question Id : 5861806527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 5861806528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option figure which contains figure X embedded in it as its part.

=l

Figure-X

Options:




=

Question Number : 26 Question Id : 5861806528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 @ g sl 99 5w angfa X swer o am gl

Options:




Question Number : 27 Question Id : 5861806529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following option figure will complete the pattern in the figure given below?

Options:



Question Number : 27 Question Id : 5861806529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 @ #la & 3fa 3 gaca 3pfa Yoo FF U HE?

Options:



Question Number : 28 Question Id : 5861806530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Mala is daughter of Lata. Vijay is father of Sumit. Divya is daughter of Rashmi. Arti is Sumit’s mother. Urja’s mother is

married to Sumit. Divya is Vijay’s only son’s wife. How is Rashmi related to Urja?

Options:
1. &= Mother

2 Maternal grandmother



3 x Paternal grandmother

4. » Granddaughter

Question Number : 28 Question Id : 5861806530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % =

2 &

Question Number : 29 Question Id : 5861806531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A + B means ‘A is daughter of B’
A — B means “A is sister of B’

A « B means ‘A is mother of B*
A +-Bmeans ‘Aissonof B’

A (@ B means ‘A is father of B’

IK@O@P-U~+~L=xM@ Q—-N +R, then which of the following statement is NOT correct?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. L is wife of K.



2 PU and M are brothers.
3 Qand N are R’s daughters.

4. O is paternal grandfather of Q.

Question Number : 29 Question Id : 5861806531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A+BFIATETA BIEI&E
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. L, K& o=t 2

5 P, UM &® &

3. Q 3R N, R & afear g

4. O, Q FT 2T &

Question Number : 30 Question Id : 5861806532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A question is given, followed by four statements labelled I to IV, each containing some information. Decide which of

the statements is / are sufficient / necessary to answer the question.
Question:
How is Ragini related to Kartik?
Statements:
I. Arpita is mother of Kartik.
II. Aryan is brother of Beena.
III. Beena is daughter of Ragini.

I'V. Kartik is father of Aryan.
Options:
1. » Statement I and II together are sufficient.

9w Statement IT and III together are sufficient.

73 x Statement I IT and IV together are sufficient.

4. » Statement II. IIT and I'V together are sufficient.

Question Number : 30 Question Id : 5861806532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF W9 & 91 | ¥ o7 |V 3ifFg o1 Fua G 7w 2, ﬁc&mﬁ'?wﬁghadldqﬂ?l &r 9 B 9T
fF 99 1 3ol 3= & U sad & 7 G Fud qarca/mwlr R

R
UfET # FfaE F @y Fr e 27
YA

3175, Frfaew $r J §

. 3=, ST 7 A= g

Il &=, Tferer $r 52 7

V. i, 3= & Rar 2

Options:




1 % U= | 3R | ThaEry 93 gl

2w wuA Il 3R Il wHEY q3@eT g

3.« ®UA |, I AR IV wRaEry 3T gl

4. » FUF I, 1 AT IV TwHar ga@rg g

Question Number : 31 Question Id : 5861806533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If “TABLOID’ is coded as 82 in a code language,

how would ‘PEACOCK’ be coded in the same code language?
Options:
1. = 91

7 % 92

3 v 93

4 = 94

Question Number : 31 Question Id : 5861806533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eﬁmmmﬁ‘TABLOID:ﬁSZHﬁgﬁ?ﬂTWE,ﬁmmwﬁ‘F’EACOCK’ﬁ?&TEﬁE
& seem?

Options:

1. = 91



3. v 93

Question Number : 32 Question Id : 5861806534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
‘Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given

mathematical equation?

228+12x14+38-57=129
Options:
1. = 14 and 38, < and +

7 % 57 and 38, —~ and +

3 o 12land 38, +and-

4. % 12and 38, xand+

Question Number : 32 Question Id : 5861806534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEmH AR R & 57 A A ¥ FF @ A 39 Bl 3w # e W OF Seed Ao
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228 + 12 x 14 + 38 - 57 = 129
Options:

1. % 14 3 38, x 3R +



D % 57 AT 38 + 3R+
3. «» 123 38, + 3t -

4, » 12 3 38, x 3 +

Question Number : 33 Question Id : 5861806535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A total of 360 students take part in one or more of three events literature, music and dance. Only 15% participate in all

three events. The number of students who participate in any two and only two events is 20% of the total students. The
number of students who participate in dance alone is 28. What is the total number of students who participate in
literature alone or music alone?

Options:

1. = 202
7 % 203
3. % 204

A. » 206

Question Number : 33 Question Id : 5861806535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 202



2 % 203

3. % 204

4. v 206

Question Number : 34 Question Id : 5861806536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among five objects A. B. C. D and E: A is five times heavier than D; B is three and a half times heavier than C; D is
two times heavier than E. C is thrice as heavy as A. Which of the following the statements is NOT correct?
Options:

1. %= Ais 10 times heavier than E.
? « B is 5 times heavier than A.
3. % B is heavier than D.

/. = Cis 15 times heavier than D.

Question Number : 34 Question Id : 5861806536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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3 % B, D¥&E

4 % C. D ¥ 15T a7 &

Question Number : 35 Question Id : 5861806537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third word in the same way as the second word is related to the first word.

Cat : Mew :: Goat :
Options:
1. + Bleat

? % Cackle
3 % Chirp

4. % Squeak

Question Number : 35 Question Id : 5861806537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 o = (H#A)

2w e (F-H)



3.« T @

4« = (3 9)

Question Number : 36 Question Id : 5861806538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out:
Options:
1. % Creativity

? % Innovation

3.« Conservatism

4. % Novelty

Question Number : 36 Question Id : 5861806538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = T=HATCHRAT

7w HdERL

3. v WREE



Question Number : 37 Question Id : 5861806539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out:

Options:
1.« 1

4, = 4

Question Number : 37 Question Id : 5861806539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 38 Question Id : 5861806540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ RFeT I S g@er 7 WoF ey (7) F WE wiaeia FEm|
13, 14, 14, 16, ?, 35

Options:

1. = 18
2 x 26
3w 28
4, v 32

Question Number : 38 Question Id : 5861806540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

1304 14.16.9.35
Options:



Question Number : 39 Question Id : 5861806541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

19, 23, 34, 64, ?
Options:
1. « 131

7 % 129
3. % 130

A % 128

Question Number : 39 Question Id : 5861806541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T faweT g S g@er # geF Reg (?) 1 w5 yiawwig s
19, 23, 34, 64, ?

Options:

1. v 131



2 % 129

3.« 130

4. % 128

Question Number : 40 Question Id : 5861806542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

27. 55, 99, 165, 260, ?
Options:
1. = 390

7 % 391

3. v 392

A = 393

Question Number : 40 Question Id : 5861806542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

¢ e g9 S g@er # geF FBeg (?) 1 wEr giawig e

27, 55, 99, 165, 260, ?

Options:

1. =« 390



2 % 391

3. v 382

4. % 393

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

General Awarenessl

3
586180314
0

0
No
No
0
20
No
Yes
0

0

General Awareness1

586180318
1

Online
Mandatory
20

20

20

1
586180441
Yes

Question Number : 41 Question Id : 5861806543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Where did the Environment Ministers of the G7 nations meet
in May 2019 to discuss climate crisis?

Options:

1. v France

2. = India

3. = Japan

4. = Germany

Question Number : 41 Question Id : 5861806543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STl Hehe WY Tl el o TT #S 2019 A S 7 2ot &
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Options:

1. v T

2. » #ANT
3. = SIT9Tel
4, % SHaAT

Question Number : 42 Question Id : 5861806544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Gadgil commuission 1S associated to:

Options:

1. v Western Ghats

2. » Eastern Ghats

3. = Andaman and Nicober
4. = Lakshadweep

Question Number : 42 Question Id : 5861806544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 5861806545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The headquarters of Central Pollution Control Board is
situated at:

Options:

1. = Chennai

ol
#®

2. « Mumbal
3. v New Delhi
4, » Kolkata

Question Number : 43 Question Id : 5861806545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TENOT AT SIS T HEATe H & g

Options:

1.« SwarE
2. « Tk
3. v % ool

4. = FIeTRId]

Question Number : 44 Question Id : 5861806546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of National Green Tribunal (NGT), which of the
following is NOT one of its benches?

Options:

1. = Bhopal



2. = Chennali
3. v Bhubaneswar
4. = Pune

Question Number : 44 Question Id : 5861806546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = afIgTel
2. = Yoz
3.&*323??&'
4, = qor

e

Question Number : 45 Question Id : 5861806547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who have been appointed as the brand ambassadors of
Myntra in 2019?

Options:

1. = Riteish Deshmukh and Genelia D’Souza
2. v Virat Kohli and Anushka Sharma

3. » Abhishek Bachhan and Aishwarya Ray
4. = Akshay Kumar and Twinkle Khanna

Question Number : 45 Question Id : 5861806547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 & AT (Myntra) T &5 vesast ford fogera foRam amar?

Options:

1. = Raer deram 3R Seferar f3eer
2.%%%311?31@@[%@



3. = TANF swaer AT et I
4. = 378TT AN I feaeher Tl

Question Number : 46 Question Id : 5861806548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

INS Ranjit, a Rajput class destroyer was decommuissioned
at

Options:

1. = Kolkata

2. v Visakhapatnam
3. = Kochi

4. » Mumbal

Question Number : 46 Question Id : 5861806548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % SRTeTehTdl

2. v TaemEacd

3. % P
4.+ TS

Question Number : 47 Question Id : 5861806549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The journalist who was conferred with V K Krishna Menon
Award 2019 in the UK for his contribution as a pioneer of
decolonized journalism?

Options:

1. v G D Robert Govender
2. = Rajdeep Sardesal



3. = Ravish Kumar
4, = Barkha Dutt

Question Number : 47 Question Id : 5861806549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forg T9hR o 3ufeiderdare [aUelT qaehRar & 3790 & &9 &
3HYel ARTET g 9eis H dT & FUT Hefel RN 2019 TTCd
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Options:

1. v ST B Tac MdeL

2. = YISTETY ECHTS
3. = Tgrer HHAT

4., = §LMET Scd

Question Number : 48 Question Id : 5861806550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the study of the Indian Meteorological Department,
which of the following Cyclones was the longest lasting
cyclone in April 2019 over Bay of Bengal in a century?

Options:

1. = Cyclone Hudhud
2. v Cyclone Fani

3. = Cyclone Phailin
4. = Cyclone Gaja

Question Number : 48 Question Id : 5861806550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:




1. = IJehdld gng
2. v dehdld Wlal
3. = shald thielel

4, = Tehdld IMST]

Question Number : 49 Question Id : 5861806551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Harappan site Lothal is situated at :

Options:

1. = Punjab
2. » Rajasthan
3. v Gujarat
4. » Harayana

Question Number : 49 Question Id : 5861806551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&STUT T2l olledel H a gl

Options:

1. % 9olls

2. = ol
3. ¢ ﬂGITIFra

4. % BRIYTOm

Question Number : 50 Question Id : 5861806552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Medieval Indian History, the term used for
Land Revenue was:

Options:

1. v Kharaj
2. = Zakat



3. = Iqta
4. = Jizya

Question Number : 50 Question Id : 5861806552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fegehlollel AR S8 & Hasl H, o - Toed & v
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Options:

1. v TS
2. % SlhTd

3. = =TT
4. » TSemr

Question Number : 51 Question Id : 5861806553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The study of Inscriptions is known as:

Options:

1. = Archaeology
2. v Epigraphy

3. » Numismatics
4. = Ethnography

Question Number : 51 Question Id : 5861806553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = MTTRATSHT
2. v wuamhr
3. » FgATHTCHT

o,

4. % TASTATHI



Question Number : 52 Question Id : 5861806554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous ruler Harsha Vardhan was belonged to which of
the following dynasties?

Options:

1. v Pushyabhuti
2. » Maukhari

3. = Pratihara

4. = Shunga

Question Number : 52 Question Id : 5861806554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uiag e gNadd e # & o9 ger & gafadg oar?

Options:

1. v I
2. » HIER
3. * UiER

4. = [T
o

Question Number : 53 Question Id : 5861806555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The concept of political sovereignty was advocated by:

Options:

1. = Plato

2. = John Locke
3. v Rousseau
4. = Austin

Question Number : 53 Question Id : 5861806555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. = Tolal
2. = Sllel ok
3. v &4
4, = &

Question Number : 54 Question Id : 5861806556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which articles authorize the parliament to protect persons in
the service of the Union or a state in respect of any action
taken by them during martial law?

Options:

1. v Articles 33 - 34
2. » Articles 23 - 24
3. = Articles 10 - 11
4. = Articles 9 - 10

Question Number : 54 Question Id : 5861806556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hleT AT 3elesda, T AT Ao hT JaT A ATkl Hr dforeh
REel oh GIIel 3eich GANT T 35 fehedl ShIUANEdl o TEH H
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Options:

1. v 37eeog 33 - 34
2. » 3eTdE 23 - 24
3. » 3o 10 - 11
4. = 3 9 - 10

Question Number : 55 Question Id : 5861806557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which Amendment of the Indian Constitution is known as the
Anti -Defection Amendment?

Options:

1. v 52nd Amendment
2. » 91st Amendment
3. = 82nd Amendment
4. = 74th Amendment

Question Number : 55 Question Id : 5861806557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TaYTeT & hT eNdd shl Zol-gcel QLT TemersT AT
ST 87

Options:

1. v 52al gy
2. = 9197 HeMdel
3. = 8247 HeMya
4, = 74aT GerdgeT

Question Number : 56 Question Id : 5861806558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Schedule of Indian Constitution specifies the powers,
authority and responsibilities of Panchayats?

Options:

1. = Twelfth
2. v Eleventh
3. = Ninth

4. = Tenth

Question Number : 56 Question Id : 5861806558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AR HiaeTeT Eﬁraﬁﬁ?ﬁmﬁaﬁ,mt—l‘r‘ I hr erferaa,
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Options:

1. = SRgar
2. v IGNEAl
3. = &l

4. = ZEAT

Question Number : 57 Question Id : 5861806559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which amendment of the Indian constitution inserted the
term ‘Socialist’ to its constitution?

Options:

1. v 42nd Amendment
2. » 27th Amendment
3. = 36th Amendment
4. = 41st Amendment

Question Number : 57 Question Id : 5861806559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRATT TGl & v TeNUel SaRT FHI TEATdeT H
HATSTAG! eeg SIST I1T?

Options:

1. v 42T Gy
2. = 2747 HeMel
3. = 36dT Hemdd
4, = 4197 GrdgeT

Question Number : 58 Question Id : 5861806560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following is NOT matched correctly?

Options:

1. = Freedom to manage religious affairs - Article 26

2. = Prohibition of Discrimination- Article 15

3. » Protection of life and personal liberty - Article 21

4. v Equality of opportunity in matters of public employment
- Article 29

Question Number : 58 Question Id : 5861806560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faT # O T AdTeT TEr 8T &7

Options:

1. » aiffid ATAC YT Hlal HT TIAAAT - efeede 26
2. = ASHTT FT A9 - 3T 15

3. * Sitgel Ud foloil Tacadm T TLETOT - Helese 21

4. v HIGolleich YoM & ATHAT H JTEL I THTACT -
Hlcse 29

Question Number : 59 Question Id : 5861806561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Men’s title in the Asian individual Squash Championship
held in Malaysia in May 2019 was bagged by :

Options:

1. = Tarek Momen
2. « Harinder Pal Sandhu
3. v Saurav Ghoshal

4. = Ramit Tandon

Question Number : 59 Question Id : 5861806561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



As 2019 # HeIRRT & 3ioia Uies sgfedderd TeFaer
E‘]ﬁqtl?lﬁtrﬁgw‘f T TErars o ured TR

Options:

1. = dRe HH
2. = BNET |Tel §Y
3. v 9 =Tel
4. = AT a3

Question Number : 60 Question Id : 5861806562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Roger Federer has returned to in the ATP Men’s
rankings released in May 2019.

Options:

1.« 3rd
2. % 2nd
3. = 6th
4. % 8th

Question Number : 60 Question Id : 5861806562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o HhsT o FAS 2019ﬁa1ﬁu€r¢rw3ﬁr%%ﬁ
qT gIadT |

Options:

1. v drEt F2me
2. % Y TUA

3. * TS T

4. = 3TST T2




General Awareness2

Group Number : 4
Group Id: 586180315
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 586180319

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180442
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5861806563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first woman Rajiv Gandhi Khel Ratna Awardee is

Options:

1. = P.T Usha

2. v Karnam Malleswari
3. * Punam Yadav

4. » Mary Kom

Question Number : 61 Question Id : 5861806563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI AT T Tead 8 TFATAT TUH Afgell gl

Options:




1. = oy & 3w
2. v HUTH Heolgddl
3. = YaH T
4, =« T HiA

Question Number : 62 Question Id : 5861806564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Paithani’ is the traditional weave of:

Options:

1. = Bihar

2. » West Bengal
3. = Karnataka
4. v Maharashtra

Question Number : 62 Question Id : 5861806564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

VST I TRARF FeIhil Fell &I

Options:

1. = foB8r
2. % TUITH FIMeT
3. % Thallceh

4. v HAgRT¢

Question Number : 63 Question Id : 5861806565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Gotipua’ Dance is assoclated to which of the following states
of India?

Options:

1. v Odisha
2. = Assam




3. = Goa
4. = Jharkhand

Question Number : 63 Question Id : 5861806565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MEYHT o oot A & form AT Uo7 @ Fafdd g7

Options:

1. v 3fZem
2. = 3EH
3. = 3NNar

4, = TS

Question Number : 64 Question Id : 5861806566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which State has received the GI Tag for the Navara Rice
Variety?

Options:

1. v Kerala

2. * Chhatishgarh
3. » Telangana

4. = Uttarakhand

Question Number : 64 Question Id : 5861806566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

forg T & A1y dmaa el & foIw Sirams (GI) &91 ured
foraT?

Options:

1. v Rl
2. % BTG

3. % deldlell




4. * 3cITEE

Question Number : 65 Question Id : 5861806567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Sanjay Gandhi National Park is located in :

Options:

1. v Maharashtra
2. » Odisha

3. = Tamil Nadu

4, = West Bengal

Question Number : 65 Question Id : 5861806567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tot T TSErT 38Tl 7 Tua gl

1. v HENTSE
2. = 37f=er

3.&3@@?@'
4. = gfegH 9Tl

Question Number : 66 Question Id : 5861806568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The natural habitat of Ostrich is found in:

Options:

1. v Africa

2. » Asla

3. = America
4. » Europe

Question Number : 66 Question Id : 5861806568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AATHI T UTehicieh ATEEU H URIT AT &




Options:

1. v 3ThTehRT
2. = T
3. = AN
4. = AT

Question Number : 67 Question Id : 5861806569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who put forth the continental drift theory in 19127

Options:

1. » Abraham ortelius
2. = Antonia Pellegrini
3. v Alfred Wegener
4. = Arthur Holmes

Question Number : 67 Question Id : 5861806569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1912 & #Agre@ar fararge g foras afamfea frar?

Options:

1. % 3TSTEA 3Tegd
2. = UcIferaT deldlialr
3. v 3oWhs JaaT

4. = 3T &

Question Number : 68 Question Id : 5861806570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Fifth Five Year Plan period is:

Options:

1. = 1980 - 85
2.v 1974 - 79



3.+ 1992 - 97
4. % 1956 - 61

Question Number : 68 Question Id : 5861806570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

greral gaasta Jister v 3afe gl

‘Ip. = 1980 - &5
2. v 1974 - 79
3. = 1992 - 97
4. = 1956 - 61

Question Number : 69 Question Id : 5861806571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Post Independence, which Economic Model was adopted by
India?

Options:

1. = Closed Economy

2. » Capitalist Economy
3. = Socialist Economy
4. v Mixed Economy

Question Number : 69 Question Id : 5861806571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIAAAT 9T WA g fohaE 3T AlSel I HI=IAT I=AT?

Options:

1. = &g 379egaean

2. USlErEr 3feegaear
3. = HHATSIAE 3Tedaer
4. v TATST 3rdeggeanr




Question Number : 70 Question Id : 5861806572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Objective of Sansad Adarsh Gram Yojana is:

Options:

1. = Adoption of Rural Children by Industrialists
2. = Adoption of Rural Heritage

3. v Adoption of villages by Parliamentarians

4. = Adoption of Village adolescent girl child

Question Number : 70 Question Id : 5861806572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATae, 3Teel ATH ATelal &l 36 gl

Options:

1. = 3ERMAAT gaRT T st &t Mg forr e
2. = JTATOT FATET T Mg ol

3. v GU¢ AGEAl gaNT ar hi Mg Telar S|

4. = AT RT ToReIT STTeRT3T T 3llg TorT SAT=T|

Question Number : 71 Question Id : 5861806573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From which plant is Litmus extracted?

Options:

1. v Lichen

2. » Petunia

3. = Geranium

4. = Cirsium Vulgar

Question Number : 71 Question Id : 5861806573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Gl @ Telead Tesrrer STar 87

Options:




1. v @T3a (Lichen)

2. = dcfaar (Petunia)

3. = SREA (Geranium)

4, » T@¥H ge9r (Cirsium Vulgar)

Question Number : 72 Question Id : 5861806574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A spherical mirror whose reflecting surface is curved inwards
is called a

Options:

1. = Plane Mirror

2. « Convex Mirror
3. v Concave Mirror
4, = Opaque Mirror

Question Number : 72 Question Id : 5861806574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T IO gdoT forEeRr WA gve 3eX T afed aar &
A

Options:

1. = HACC gUoT
2. ® 3cdol gquT
3. v 3gdel c9oT
4. = IRl ZqoT

Question Number : 73 Question Id : 5861806575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the SI Unit of Luminous Intensity?

Options:

1. v Candela



2. % Kelvin
3. = Mole
4. = Ampere

Question Number : 73 Question Id : 5861806575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AT T T8 (SI) AT F7 87

Options:

1. v &gl
# Shiodel

.= AT
% TR

Question Number : 74 Question Id : 5861806576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI I &l

B
Options:

1. » fderge

2. % dcd

3. = Tifarek

4. v RISE

Question Number : 74 Question Id : 5861806576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fog is a:
Options:

1. = Solution

BowW N

2. » Element
3. » Compound
4. v Colloid



Question Number : 75 Question Id : 5861806577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is India’s first multi - wavelength observatory?

Options:

1. » Herschel
2. * Lemur
3. = Planck
4. v Astrosat

Question Number : 75 Question Id : 5861806577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HT T TIH I - JLETEe IRl Shie IT &7

Options:
1. % BILLhal
2. = QT

o,

3. * Toleh
4. v TEIHT

Question Number : 76 Question Id : 5861806578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kalpakkam Mini Reactor is operated for:

Options:

1. v Neutron Radiography

2. = Cryogen Distribution
3. » Radiotheraphy
4. = Developing Radioisotopes

Question Number : 76 Question Id : 5861806578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

holUdhd THaAT RUFel %tjlj gdreld gldr &l

Options:




v #ggiel ISR

x Aol TSECIegRre
STy

« MBI THET Fat

Question Number : 77 Question Id : 5861806579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is India’s first interplanetary Spacecraft Mission?

Options:

1. = Saturn Orbitor Mission

ol
#®

2. v Mars Orbiter Mission
3. # Jupiter Orbitor Mission
4. = Venus Orbiter Mission

Question Number : 77 Question Id : 5861806579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT T TIH AdIaT AR THeeT il AT &7

Options:

1. = erfey 3Hifeey e
2. v It 3iffeey e
3. * ggEafd 3iifeey fAere
4. « ek ifeieT fAer

Question Number : 78 Question Id : 5861806580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which city the National Institute of Nutrition is located?

Options:

1. = Chandigarh
2. » Pune
3. v Hyderabad



4. = Bengaluru

Question Number : 78 Question Id : 5861806580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I TIN0T GEdTe for 98T H g §7

Options:

1. » TSIG
2. » O

3. v eeIETE
4. = d3I;cl®

=

Question Number : 79 Question Id : 5861806581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The headquarters of International Court of Justice is located
at

Options:

1. v Hague

2. %= Prague
3. = Paris
4. = Brussels

Question Number : 79 Question Id : 5861806581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRTSER FATATe hT T H o B

Options:

1. v &7
2. % WMET
3.« O
4. » g

Question Number : 80 Question Id : 5861806582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which one of the following is NOT a part of SAARC?

Options:

1. = India

2. = Afghanistan
3. » Nepal

4. v Myanmar

Question Number : 80 Question Id : 5861806582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

foieet H O hidT, AT (SAARC) T HTT a8l &7

Options:

1. = AT

2. = 3TRINTaIEdT

3. = qTel

4, v HTAX
Arithmetic Abilityl
Group Number : 5
Group Id: 586180316
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 586180320
Section Number : 1
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180443
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861806583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following:

(536+268)° - (536-268)%

—
536 % 268

Options:
1. v 4

P % 3

[

3. %

4 % 8

Question Number : 81 Question Id : 5861806583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fF=afof@T & g 1

(s36+268)° - (536—-268)%7 _ s
536 x 268 )

Options:

1. v 4

2 = 3



Question Number : 82 Question Id : 5861806584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Free notebooks were distributed equally among children of a class. The number of notebooks each child got was one -

sixth of the number of children. Had the number of children been half. each child would have got 18 notebooks. How
many notebooks were distributed in all?

Options:
1. = 468

7 o 486

3 % 648

A % 684

Question Number : 82 Question Id : 5861806584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FETT & Fedl H HUd G adid # TS| Foded goof H [Hel Jer GEden Hf BEAT geal $r
T w1 oo Fear ot 3fE s=a fr v Alegr vE @ Al @, & @ = # 18 qEad [Herd
o HITAT & For foraedt qras Fafka $r 75 o

Options:

1. = 468

2. « 486



3. % 648

4. » 684

Question Number : 83 Question Id : 5861806585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A contractor pays Rs. 65 to a worker for each day and the worker forfeits Rs. 15 for each day if he is idle. At the end of

70 days, the worker gets Rs. 2150. For how many days was the worker idle?
Options:
1. = 25days

2  28days

3 x 35days

4. » 30days

Question Number : 83 Question Id : 5861806585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF SHEN HIUA FAIN F 9l & FEE & T9U 65 & s e g, AR aY FHOW F
e R #1% F77 787 & af 37 BT 309 T99 15 F¢ TS &1 T FHER 70 RSt ¥ 9 w9
2150 &1 pTare A a1urer HfAv & 98 Fem s et dor (9er && ) @ ar

Options:

1. « 25 fm

2. % 28 fe=



3. . 35 R

4. «» 30 R=

Question Number : 84 Question Id : 5861806586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of Rs. 2680 was divided among Arindham, Badal and Kaveri in such a manner that Arindham gets - of what

Lo w

Badal gets and Badal gets % of what Kaveri gets. What is Badal’s share?

Options:
1. # Rs.750

? % Rs.700

3« Rs. 800

4. = Rs.900

Question Number : 84 Question Id : 5861806586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3R, T AT FEd F 9= 9 2680 F TR F 57 g ¥ Fafeg G mr & afmus #7rosee
ﬁﬁaﬁrmﬁrnﬁ?mz, aﬁmaﬁraﬂéﬂﬁﬁﬂﬁmﬁrﬁmgmﬁrmmﬁmmﬁ?

Options:

1. = ¥IF 750

2 % TEF 700



3. v TI 800

4. % T 900

Question Number : 85 Question Id : 5861806587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following:

15.6%15.6—7.8x7.8
23.4x7.8

o

Options:
1.+ 1

? = 31.

-2

Question Number : 85 Question Id : 5861806587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T & g F:&

15.6X15.6-7.8X7.8 _ -
23.4x7.8 )

Options:

1. v 1

2 % 312



3. % 234

Question Number : 86 Question Id : 5861806588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify the following:

16.45+§of32—4+2.55

_ 9
7%6.5——of (32.2-3.5)+14.8-7.4

Options:
1.+ 1

Question Number : 86 Question Id : 5861806588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el gt 51 g fifaT:

16.45+§0f 32-442.55

= P
7X6.5— gof (32.2-3.5)+14.8-7.4 .
Options:
1. v 1

2. % 2



Question Number : 87 Question Id : 5861806589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the sum of two positive numbers is 11.5 and their product is 27.54, find the smallest number.
Options:
1. = 43

2. v 34

Question Number : 87 Question Id : 5861806589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg & uATeHs Tt #1 AT 115 § AR 3deT U=t 27.54 ¢, & @ H & S @& A
HIATI

Options:
1. = 4.3
? ¢ 34



Question Number : 88 Question Id : 5861806590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A woman sells to the first customer half her stock and half an apple, to the second half of her remaining stock and half
an apple, and so also to the third customer. She finds that she has now 8 apples left. How many apples did she have at
first?
Options:

1. = 61

Question Number : 88 Question Id : 5861806590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ARG Tgo TEF H HUA TH Hislg FaT F AT Tew HT AT T 39T &, SET TEH H 3TH
= U Tk T AT HR 1T W S & AR CH & R AEE F @y off A g1 A A 3HF 9
8 ¥E T TS gl 3HF U YTHE H el T 47

Options:
1. = 61
2 = 76



4. v 71

Question Number : 89 Question Id : 5861806591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify the following:
53 2x15342 .3
:'3 - g ‘is ?1 m =il
;Gf?a——2+2;
Options:
6
1.v 5
5
? % 6
7
3 % 5
5
4. % T

Question Number : 89 Question Id : 5861806591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T THSoT 7 0T HITaT:

3 z 2 _4 9
o il = 7
Zﬂf?ra—?—z—
Options
6
1. v 5



| =1 ol

~1| Ln

Question Number : 90 Question Id : 5861806592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I read% of a book on one day and g of the remainder on another day. If there are now 60 unread pages. how many pages

did the book contain?
Options:

1. = 180

7 % 240

Question Number : 90 Question Id : 5861806592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬂﬁ%ﬁﬂmmaﬁr% mwﬁm,%aﬂ?%ﬂﬂ%aﬁgcmmgmﬁﬁmmﬁ
fFame & 60 gso 3788 off W 1w FEh B, O Fae fae geer #r g7

Options:

1. = 180



2 % 240

3. v 280

4. % 260

Question Number : 91 Question Id : 5861806593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the smallest number which when diminished by 9 is divisible by 12, 18, 28, 36.
Options:
1. = 252

7« 261

3. % 245

A = 361

Question Number : 91 Question Id : 5861806593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I H9Y O &0 A9 Y @A ¥ 9 Ude W I8 12, 18, 28, 36 ¥ fyenfera 2 1

Options:

1. = 252

2. v 261



3. % 245

4. » 361

Question Number : 92 Question Id : 5861806594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of two numbers is 672 and their HCF is 28. How many pairs of such numbers can be formed?
Options:
l.v 4

2. % 3

Question Number : 92 Question Id : 5861806594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar FEATHT T AT 672 § 3T 3AFT Agcad TAMAGE 28 g1 vEr T & frae g 4T ST 'ea
g7

Options:

1. v 4




Question Number : 93 Question Id : 5861806595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the sum of the greatest four - digit number and smallest five - digit number that have 28 as their HCF.
Options:
1. = 20200

7 % 20040

3.« 20020

4. = 20024

Question Number : 93 Question Id : 5861806595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HAESH 28 gl
Options:

1. = 20200
2 % 20040
3. v 20020
4. = 20024

Question Number : 94 Question Id : 5861806596 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Rs. 9400 is distributed among Arjun, Bunty and Charu in the inverse ratio of 3 : 4 : 5. Find the sum of the shares of

Bunty and Charu.
Options:
1. v Rs.5.400

9 % Rs.4.500

3 % Rs.7.000

4. % Rs.6.400

Question Number : 94 Question Id : 5861806596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H%H,éﬁ'}ﬁTW#WS:&:S#crgrﬁwmgmdﬁ'w& 9,400 Fafa o 7o) 72 3t == &+
rer ffEw &1 I FJ1g HiET

Options:
1 o ¥ 5,400
2« T 4,500
3« T 7,000
A x T 6,400

Question Number : 95 Question Id : 5861806597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Rs. 12,400 is divided between Arjuna. Babul and Chaman in such a way that Arjuna gets 40% of what Chaman gets and

Babul gets § times of what Chaman gets. After dividing, Arjuna, Babul and Chaman donate 10%. 20% and 30%

respectively of their dividends to charity. Find the total amount of money donated by them to charity.



Options:
1. = Rs.2.800

2 & Rs.2.840

3 % Rs.2.850

4. x Rs.2.780

Question Number : 95 Question Id : 5861806597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 12,400 #r TR F 35, T AR 777 F G 37 Re Feioa G w1 § BF e #oamw

ﬁﬁﬁruﬁmm%%wﬁw%aﬂ?mgﬂaﬁmﬁﬁﬂﬁmﬁmg‘I%mﬁhar—w%l
FTAR F TG 3o, TGA IR TAA 3G FHA F FAT: 10%, 20% 3R 30% FFAw @ W & E
3% W & H & I FI A B A0 HifSw

Options:
1 % T 2,800
5 o TIH 2,840
3 x TIF 2,850
4w TIH 2,780

Question Number : 96 Question Id : 5861806598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

60% of a number is 28 less than a century. How much must be added to the number to make it double century.

Options:



1. = 120

Question Number : 96 Question Id : 5861806598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e TEw #1 60% UF adE W 28 FA gl FW cgl UAdF H "o & o ed 7 § 9 @ g

SEr ST =fRT
Options:

1. = 120

7 = 60

3 ¢ 80

4. = 40

Question Number : 97 Question Id : 5861806599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Sukhdev’s salary is Rs. 9.80.000. If there is no tax up to Rs. 2,50,000, 5% tax up to Rs. 5.00.000 and 20% tax up to Rs.

10.00.000, then find the total tax paid by Sukhdev.
Options:
1 « Rs.1,08,500



9 % Rs.1.80,500

3 % Rs. 208,500

4. % Rs.2.80,500

Question Number : 97 Question Id : 5861806599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

J@ET F Id T94 9,80,000 gl Ifg T9F 2,50,000 T F5 FT @ AT & IAT T9F 5,00,000 TF 5%
#T forar se 3 T9F 10,00,000 dF 20% FT foram e & gEed 7 Fo fFaa & A= e

Options:

1 ¥ 1,08,500

2 ¥9¥ 1,80,500

3 x T 2,08,500

4 x FI¥ 2,80,500

Question Number : 98 Question Id : 5861806600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The price of sugar increases by 25%. By how much percentage must a family reduce their consumption of sugar so that

their expenditure remains the same.
Options:

1. & 25%

7 % 15%



3. % 10%

A v 20%

Question Number : 98 Question Id : 5861806600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At Fr FrEg #7 25% FHr gy @ FJar g1 B gfER # 39w T F uge S\ & 940 WA &
fore =T Fr @ua FF Fdar &8 S 9ige?

Options:
1. = 25%
2 % 15%
3 = 10%
4. v 20%

Question Number : 99 Question Id : 5861806601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are 120 employees in a firm. The mean weight of male employees is 61 kg and the mean weight of female

employees is 58 kg. If the mean weight of all the employees is 59 kg, find the ratio of men to women.

Options:
1 « 1:2
? % 2:1



4w 3:2

Question Number : 99 Question Id : 5861806601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U GH H Fo 120 FHAN g1 [T FHAAET F A0 T 61 kg AR wfgen sA=mit & wg a=a
58 kg g1 3% Fefr FA=NGT &1 3faa I 59 kg &, at qeul A Afemat F a7 F IFAS A F

Options:

1. ¢ 1:2
2 =% 2:1
3 % 2:3
4 = 3:2

Question Number : 100 Question Id : 5861806602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There were 50 members in a project. Due to the arrival of 10 more members. the expense of snacks was increased by
Rs. 210 per day while the average expenditure is decreased by Rs. 9 per day. What was the total expenditure per day
before the arrival of new members?
Options:

1. = Rs. 3,570

2 o Rs.3.750

3 % Rs.3.850

4. = Rs.3.700



Question Number : 100 Question Id : 5861806602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UH WiSEe A For 50 HeEd ¥ 3 s8A 10 AR AT WEEA & S5 FH & HROT AR F G Siaes
TIT 210 & T3HE ¥ 9 7147 387 3iEa @97 399 9 viaed & BEe ¥ F7 & 47 AT 955 F W
¥ 9g 9f ot For T faraar gar ar?

Options:
1. = ¥9& 3,570
2 o T 3,750
3 % I 3,850
A » TIF 3,700
Arithmetic Ability2
Group Number : 6
Group Id: 586180317
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 586180321
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 586180444
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861806603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

While selling 25 oranges at Rs. 340, a fruit seller loses an amount that is equal to the cost price of 8§ oranges. What is the
cost price of an orange?

Options:
1. v Rs.20

7 % Rs.25

3. % Rs.28

A % Rs. 30

Question Number : 101 Question Id : 5861806603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk ThaT 9T 340 H 25 WAL 9947 ¢, S0 Hi H 98 8 WA #T HHAT & SUET HT g 31T 21 Tk
HaY &7 HAT AT FL?

Options:
1. v TOT 20
2 % TIY 25

3 % TIY 28



4. = AT 30

Question Number : 102 Question Id : 5861806604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
1200 pens were bought at Rs. 50 a dozen. 500 pens were sold at 3 for Rs. 18 and the remaining at 5 for Rs. 40. Find the

profit percentage.
Options:
1. = 70%

? v 12%

3 % 62%
A = 60%

Question Number : 102 Question Id : 5861806604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 50 ufy 2= & J@e ¥ 1200 97 @lie 7Iv) 99 ¥ 79 18 & 3 99 & fgoe ¥ 500 9= a9 few
T, AT &< 9AT T 40 F 5 U7 & gHEe @ s=r A oy giaea Jg e

Options:

1 = 70%
2. v 72%
3. % 62%

4. % 60%



Question Number : 103 Question Id : 5861806605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A merchant mixes 15 kg of rice (being sold at Rs. 60 per kg) with 85 kg of rice (being sold at Rs. 50 per kg) and sells
the mixture at Rs. 59 per kg. Find his profit percentage (correct up to one decimal place).

Options:
1. & 15.4%

7 v 14.6%

3w 12.5%

A % 10.5%

Question Number : 103 Question Id : 5861806605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TR 15 kg = (ST TUH 60 9T kg & o9 & 3 I §) 3 85 kg waEe (I TIF 50 9iy kg
& AT T 9T A g) P HOH A Few &ar £ 3t 5§ s #7393 59 9 kg F TEE ¥ 9w & g
STIHT FT 78T STad AT Y (SUHST & T T aF Tl

Options:

1. = 15.4%

2. v 146%

3. % 125%

4. % 105%

Question Number : 104 Question Id : 5861806606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The marked price of an article is Rs. 800 and it is sold to Ashok at two successive discount of 10% and 20%. He spends

Rs. 24 on transportation of the article. Find the selling price of the article if Ashok sold the article at 20% profit.



Options:
1. ¢+ Rs. 7

b
=

? % Rs. 740

3. % Rs. 700

4] = Rs.760

Question Number : 104 Question Id : 5861806606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e avg & 3feha Hea o938 800 & 3R 3& e & 10% AR 20% & & HHe gel T = el
21 98 TG F UNEES W T 24 T FAT gl TG 9AlF, TG FT 20% WM T A=A § A T8 H

T o 19 F
Options:

1. v 9 720
2 % TIF 740
3 % TIF 700
A = TIF¥ 760

Question Number : 105 Question Id : 5861806607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A shopkeeper sold a radio for Rs. 336 after giving a 4% discount on the marked price. Had he not given the discount, he

would have earned a profit of 12%. Find the cost price of the radio.

Options:



1. % Rs.321.50

7 % Rs.300.50

3 ¢ Rs.312.50

/] = Rs.318

Question Number : 105 Question Id : 5861806607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH ZHEER & UH (AT AT T W 4% T O &F F a1g 797 336 F I AfE 39 ge 7 &
giell, a1 3/ 12% T AT T @Al MW F1 A0 Fp¥ A AT

Options:

1. = T9F 321.50

2 % TIF 300.50

3. v TAF 31250

A« TII318

Question Number : 106 Question Id : 5861806608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A sum of Rs. 12,500 gives a simple interest of Rs. 3125 in 2 years and 6 months. Find the rate of interest per annum.

Options:
1. v 10%



7 % 9%

3 % 11%

A % 8%

Question Number : 106 Question Id : 5861806608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIF 12,500 Fr 7fEr 2 @rer v 6 FEAT & TUX 3125 T TUROT =TS T FaT 2l wfaey st =X

AT Ff=T)
Options:

1. ¢ 10%
2 =% 9%
3= 11%
4. = 8%

Question Number : 107 Question Id : 5861806609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A sum of Rs. 8,000 was invested on simple interest for as many vears as the rate of interest. If the interest available is

Rs. 11,520 at the end of the stipulated time, find the rate of interest.
Options:

1. % 10%

7 v 12%



3. % 9%

A = 14%

Question Number : 107 Question Id : 5861806609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIU 8,000 FT T FT FUNUT =T 9T T i 27 & FOaT I & foe @ & man o faifia
AT & 37T F T 11,520 T =TT 9od g1 &, af =41 &7 2T A FHIiav|

Options:

1. = 10%
2. v 12%
2w 9%
4. = 14%

Question Number : 108 Question Id : 5861806610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Srivatsan borrowed Rs. 8.000 from a bank at 15% p.a. at simple interest. After five years. he paid Rs. 7,000. As he was

not able to pay his debt fully, the bank took a cow from him and sold the cow for Rs. 19,000. The bank returned the
excess money obtained by selling this cow to Srivatsan after adjusting the remaining due money. How much did the
bank return?
Options:

1. « Rs. 12.000

9 % Rs. 10,000



3 % Rs.7.000

4. % Rs.13.000

Question Number : 108 Question Id : 5861806610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Macdd & dF T 15% o a9 ¥ &7 T TYR0T = W 28,000 Fr T 34 o 5 I F € 3@
7,000 T W FIfF a7 AT FT TG A O G AT, W FROT W qF 7 SHHT Tk I Fed FL o
3R =7 219,000 F &= feam dF & ¥ 97 ¥ Ter TR F 9V T ¥ F Y TAATST FF g4
g% T slacEar @ aaw &< & 7o w35 7 3% et ofr sters?

Options:

1. «» ¥9& 12,000

2 % T 10,000

3 x T9F 7,000

A % TIF 13,000

Question Number : 109 Question Id : 5861806611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Rs. 16,820 is divided between Abhishek and Rajkumar in such a manner that Abhishek’s share after four years at 5%

rate of interest invested at compound interest will be equal to Rajkumar’s share at the end of two vears at 5% rate of
interest compounded annually. Find Abhishek’s share.
Options:

1. = Rs. 10,000

9 % Rs.9.000



3 % Rs.9.500

4. » Rs.8.000

Question Number : 109 Question Id : 5861806611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTd 16,820 F HfI¥e 3R TeHAR F 9 57 T ¥ Reanfew frwr mm § & wfins ¥ fww wr
THfE S W 5% H T ¥ IX T F O el s | 97 1fr oA & e wr awgiE
ST T 5% Hr AMWF &I W 2 T & fov FERE & W areg TR + | gef 3B ns & ey
& FTOTAT F

Options:
1 % ¥I¥ 10,000
2« T 9,000
3« T 9,500
4 o T 8,000

Question Number : 110 Question Id : 5861806612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
A sum of money will become Rs. 6.655 in three years and Rs. 6,050 in two years at a fixed rate of interest invested at

compound interest. Find the amount invested.
Options:
1. % Rs.6.000

9 % Rs.4.500



3 » Rs.5.000

4. = Rs.5.500

Question Number : 110 Question Id : 5861806612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

u Ufr v AfRua gwgie == e W & @ & 99 6,655 HIT g ;e # 9 6,050 g ST g
e Fr 712 ofer w9 HifFT

Options:

1 % ¥9¥ 6,000
2 x T 4,500
3 T 5,000
A % T 5500

Question Number : 111 Question Id : 5861806613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A shopkeeper has spherical ladoos of radius 10 cm. With the same amount of material. how many ladoos of radius 2.5
cm can be made?
Options:

1. v 64

3 % 60



A4 = 68

Question Number : 111 Question Id : 5861806613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HER & 9 10 cm B & TieeR @53 & 'E F AT F 5 ggaE e & 2.5 cm
R=ar & fohae @88 A0 1 Wbl g7

Options:

1. v 64
? = 65
3.« 60
4. = 68

Question Number : 112 Question Id : 5861806614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the side of an equilateral triangle is increased by 5 cm, then its area is increased by 10+/3 cm? . Find its side.
Options:
1. = 1.6em

? « 1l5cm

3. % 2cm

s
%
=
Lh
-

Question Number : 112 Question Id : 5861806614 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
AT v wHETg e F oS F 5 cm TF T ST §, A FHEF ST A 10V3 em? F R e 7
T AT HH

Options:
1. = 1.6 cm
? « 15 cm
3 % 2cm

4. = 25 cm

Question Number : 113 Question Id : 5861806615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length, breadth and height of a cuboid are in the ratio 3 : 2 : 5 and the difference between the cost of painting it at
the rate of Rs. 10 per m? and Rs. 12 per m? is Rs. 3,100. Find the height of the cuboid.

Options:
1. v 2

=

? % 30m

3. % 32m

Question Number : 113 Question Id : 5861806615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Te OATH T oETS, s AR FES @ oaaa 30 2 0 5 g AR W w9 10 9 m? # &} F 9T
T T 12 9fF m?2 #F T T 92 o & AT 3mavme ufEr Fr a7 9 3,100 ¥ geArT FHr IO AT
FfaT)



Options:

1. ¢ 25 m
2 % 30m
3 % 32m
4. = 36 m

Question Number : 114 Question Id : 5861806616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anita and Bitu can do a job in 15 days. Bitu and Clara can do the same job in 20 days. If Anita is twice as good a
workman as Clara, then in how many days can Bitu alone complete the same work?

Options:

1. = 25days

2 30days

3 x 32days

4. = 28days

Question Number : 114 Question Id : 5861806616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ai?ﬁFfTa-ﬁTﬁEWEFmEﬁrﬁﬁﬁﬁHW%I%Eﬁc&ﬂ{lﬂﬁﬁﬂ#%ﬁﬁfﬁwaﬂ‘m
g1 AT Fehar Fomr @ S =S FER E, A g 3T w & sk hae faet 9 o) weedr @2

Options:




1. « 25 fm

2 o 30 R=

3 % 32 fea

Question Number : 115 Question Id : 5861806617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Five men and eight women can complete a job in 10 days. Three men and six women can complete the same job in 15

days. How long will 20 women take to complete the job?
Options:
1. = 10days

7 w Sdays

3 x 7days

4. » 9days

Question Number : 115 Question Id : 5861806617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ure 9 AR 37 Afgere Beew ve w10 G F 9w wT wa § 9 29 3R og #fgere 36
FH F 15 AT F T FT Tt 21 20 AT & I8 FH W WA H bl FHAT T2

Options:

1. = 10 R



3. . 7fm

4, v 9f=

Question Number : 116 Question Id : 5861806618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of speeds of a scooter, car and a horse is 2 : 3 : 5. The average speed of all the three is 80 km/h. What is the
average speed of the car and scooter?

Options:
1. «+ 60km/h

? s 70 km/h

3 % 65kmh

A % 64 km/h

Question Number : 116 Question Id : 5861806618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T, FR AR T o Fr a1fa F s 2 3: 5 g1 de F s afd 80 km/h B FR 3R TEeT
e 7ifa 79 w2

Options:

1. « 60 km/h

2 % 70 km/h



3. % 65 km/h

4. % 64 kmh

Question Number : 117 Question Id : 5861806619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A boat takes three hours to travel downstream from A to B. It takes the same boat five hours to travel upstream from B
to A. The speed of the stream is 2 km/h. Find the distance between points A and B.

Options:
1. «+ 30km

3 % 35km

4 % 25km

Question Number : 117 Question Id : 5861806619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATBTF R IMN P FRA A T AT R I H R F I ae svd 1 B & A 7% & o & o
3 AT B ORT B el feen F o we wer §) o B Afy 2 km/h ¥ fig A RB F S A gl
AT =T

Options:
1. ¢ 30 km
2 % 32 km

3. % 35 km



4. % 25 km

Question Number : 118 Question Id : 5861806620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a flight of 1080 km, an aircraft was slowed down due to bad weather. Its average speed for the trip was reduced by

360 km/h and the time of flight increased by 30 minutes. The original duration of the flight was:
Options:
1. «+ 1hour

? % 2 hours

3. % 3 hours

4 = 251 hours

Question Number : 118 Question Id : 5861806620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1080 km Fr T 3z #, TuE Algw F FRoT v A o @ oo F v guey sma oy
360 km/h & &H & 75 R 35 & @FT 30 B ag T 35 F 7 =™ e o

Options:

1. v 19
2 x 29U
3 0« 3°e

21 e



Question Number : 119 Question Id : 5861806621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The pie chart given here shows the expenditure of a country on various sports during a particular year. Study the graph
carefully and answer the questions given below it.

Hockey
63%

Basketball

50%

How much percent more is spent on football than on tennis?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 35%

7 40%

3. 25%

A, 20%

Question Number : 119 Question Id : 5861806621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



@ T % I T AW 99 F SE RS O W UF U F T F Qe § WME 7 OEws
' T FoAT F ea% &

E
3
F
4
q

form & gorem # Feater W e sfoea wfe o= g 22

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 35%

2 40%

3. 25%

4. 20%

Question Number : 120 Question Id : 5861806622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The pie chart given here shows the expenditure of a country on various sports during a particular year. Study the graph
carefully and answer the questions given below it.

Hockey
63%

Basketball

50%

If the total amount spent on sports during the year is Rs. 10.80,000, the amount spent on cricket exceeds the amount spent
on basketball by:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. Rs.93.000

2 Rs. 90,000

3 Rs. 85,000

/4. Rs. 83,000

Question Number : 120 Question Id : 5861806622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



EHLI’

> 2R RBffes @ | v U F T A g2 &1 IE FoemaEs
T % 3ca7 &l

uﬁmaﬁﬁaﬁﬁg'mgﬁra#mm,so,ooom,a‘r%waﬁﬁf?ﬁuﬁ,mm
g @ S Ofr ¥ feaer 3P geie?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. T98 93,000
2 T9F 90,000
3. TI& 85,000
4. TIF 83,000
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Question Number : 121 Question Id : 5861806623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate word.

All new information is in the short - term memory, not
in the long - term memory by the brain.
Options:

1. » maintained
2. v stored

3. = heaped

4. = shaped

Question Number : 121 Question Id : 5861806623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate word.

All new Information is In the short - term memory,

not in the long - term memory by the brain.

Options:

1. = maintained
2. v stored
3. ® heaped
4. = shaped

Question Number : 122 Question Id : 5861806624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate word.

The drug peddler started selling drugs but when he was
found out and caught, he was jailed.

Options:

1. * mysteriously
2. = simultaneously
3. v surreptitiously
4. = unknowingly

Question Number : 122 Question Id : 5861806624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate word.

The drug peddler started selling drugs but when he

was found out and caught, he was jailed.

Options:



1. = mysteriously
2. ®= simultaneously
3. v surreptitiously
4. = unknowingly

Question Number : 123 Question Id : 5861806625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate idiom / phrase.

The elections in India have many new controversies
among different political parties.

Options:

1. = kicked out
2. v Kicked off
3. = Kicked back
4. = Kicked at

Question Number : 123 Question Id : 5861806625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate idiom / phrase.

The elections In India have many new controversies

among different political parties.

Options:

1. = kicked out
2. v kicked off
3. = kicked back
4. = kicked at



Question Number : 124 Question 1d : 5861806626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate idiom / phrase.

When the builder started we all protested as the quality
of construction started going down.
Options:

1. = giving everyone the cold shoulder

2. = hitting the nail on the head

3. v cutting corners

4. = doing something at the drop of a hat

Question Number : 124 Question 1d : 5861806626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate idiom / phrase.

When the builder started we all protested as the

quality of construction started going down.

Options:

1. = giving everyone the cold shoulder
2. ® hitting the nail on the head
3. v cutting corners

4, % doing something at the drop of a hat

Question Number : 125 Question Id : 5861806627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate idiom / phrase.

Could you please the arrangements that need to be
made for the exhibition?



Options:

1. = elaborate to
2. » elaborate in
3. = elaborate with
4. v elaborate on

Question Number : 125 Question 1d : 5861806627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate idiom / phrase.

Could you please the arrangements that need to be

made for the exhibition?

Options:

1. = elaborate to
2. = elaborate In
3. = elaborate with

4. v elaborate on

Question Number : 126 Question Id : 5861806628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Increasingly worsening farsightedness my uncle to
switch between multiple pairs of glasses for various uses.

Options:

1. v forced

2. » had been forced
3. = was forced

4. = is forced



Question Number : 126 Question Id : 5861806628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Increasingly worsening farsightedness my uncle to

switch between multiple pairs of glasses for various uses.

Options:

1. v forced
2. * had been forced
3. = was forced

4. = |s forced

Question Number : 127 Question Id : 5861806629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

It hard. Please don’t go out to play.

Options:

1. v I8 raining

2. % rains

3. = have been raining
4. = will have rained

Question Number : 127 Question Id : 5861806629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

It hard. Please dont go out to play.

Options:

1. ¢ Is raining



2. % rains
3. * have been raining

4. = will have rained

Question Number : 128 Question Id : 5861806630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

After for my friend for 45 minutes, I realised that she
was not coming.

Options:

1. = waited

2. = have waited

3. v having waited

4. = have been waiting

Question Number : 128 Question Id : 5861806630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

After for my friend for 45 minutes, | realised that

she was not coming.

Options:

1. = walted
2. * have walted
3. v having walted

4. = have been waiting

Question Number : 129 Question Id : 5861806631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate word.

You've been watching videos on YouTube four hours.

You better stop now.

Options:

1. v for

2. » within
3. = since
4. = hefore

Question Number : 129 Question Id : 5861806631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate word.

You've been watching videos on YouTube four

hours. You better stop now.

Options:

1. ¢ for
2. = within
3. % since

4. = before

Question Number : 130 Question Id : 5861806632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The doctor asked me many questions about my illness,

answered truthfully.

Options:

1. * many of them

I



2. v most of which
3. = most of those
4. = many of that

Question Number : 130 Question Id : 5861806632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The doctor asked me many questions about my illness,

| answered truthfully.

Options:

1. = many of them
2. v most of which
3. * most of those
4.

* many of that

Question Number : 131 Question Id : 5861806633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported
speech.

The keynote speaker, who was very late, said, “I know I'm late
and we have lost 15 minutes. I do assure you of a very
motivating session.”

Options:

1. = The keynote speaker, who was very late, said that he
knows he was late and we have lost 15 minutes but he
assured us that we would have a very motivating session.



2. » The keynote speaker, who had been very late, said that he
knew he would have been late and we had lost 15 minutes
but he assured us that we would have a very motivating
SeSsIon.

3. » The keynote speaker, who have been very late, said that
he knew he would have been late and we has lost 15 minutes
but he assured us that we would have a very motivating
Session.

4. v The keynote speaker, who was very late, said that he
knew he was late and we had lost 15 minutes but he assured
us that we would have a very motivating session.

Question Number : 131 Question Id : 5861806633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

reported speech.

The keynote speaker, who was very late, said, “| know I'm
late and we have lost 15 minutes. | do assure you of a

very motivating session.”

Options:

1. = The keynote speaker, who was very late, said that he
knows he was late and we have lost 15 minutes but he

assured us that we would have a very motivating session.



2. = The keynote speaker, who had been very late, said
that he knew he would have been late and we had lost 15
minutes but he assured us that we would have a very

motivating session.

3. = The keynote speaker, who have been very late, said
that he knew he would have been late and we has lost 15
minutes but he assured us that we would have a very

motivating session.

4. v The keynote speaker, who was very late, said that he
knew he was late and we had lost 15 minutes but he

assured us that we would have a very motivating session.

Question Number : 132 Question Id : 5861806634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported
speech.

Mr. Gupta said to Tanvi, “It will be dark by the time you reach
the airport. Don’t you think I should come to pick you up?”

Options:

1. = Mr. Gupta told Tanvi that it would be dark by the time
she would have reached the airport. He enquired that she did
not think he should pick her up.

2. v Mr. Gupta informed Tanvi that it would be dark by the
time she reached the airport. He asked if she did not think he
should pick her up.



3. = Mr. Gupta told Tanvi that it would be dark by the time
she reaches the airport. He suggested shouldn’t he pick her
up?

4. = Mr. Gupta said to Tanvi that it was will be dark by the
time she reached the airport. He asked if she did not think he
should pick her up.

Question Number : 132 Question Id : 5861806634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence In

reported speech.

Mr. Gupta said to Tanvi, “It will be dark by the time you
reach the airport. Don’t you think | should come to pick you

u p?!!
Options:

1. = Mr. Gupta told Tanvi that It would be dark by the time
she would have reached the airport. He enquired that she
did not think he should pick her up.

2. v Mr. Gupta informed Tanvi that it would be dark by the
time she reached the airport. He asked if she did not think
he should pick her up.

3. = Mr. Gupta told Tanvi that it would be dark by the time
she reaches the airport. He suggested shouldn’t he pick her

up?



4. = Mr. Gupta said to Tanvi that it was will be dark by
the time she reached the airport. He asked If she did not

think he should pick her up.

Question Number : 133 Question 1d : 5861806635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Hina and Ananya don’t go for Maths classes, ?

Options:

1. = aren’t they
2. v do they

3. » have they

4. = don’t they

Question Number : 133 Question Id : 5861806635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Hina and Ananya don’t go for Maths classes, ?

Options:

1. = aren’t they
2. v do they

3. = have they
4, = don’t they

Question Number : 134 Question Id : 5861806636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in passive
voice.

I am writing a book describing my adventures. I am also
inserting pictures of places I went to in the book.

Options:

1. = A book has been written by me in which I am describing
my adventures. Pictures of places I went to are also being
inserted in the book.

2. = A book is written by me in which I am describing my
adventures. I have also inserted pictures of places I went to in
the book.

3. v A book is being written by me in which I am describing
my adventures. Pictures of places I went to are also being
inserted in the book.

4. = A book is being written by me in which I am describing
my adventures as well as pictures of places I went to are also
being inserted in the book.

Question Number : 134 Question Id : 5861806636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

passive voice.

| am writing a book describing my adventures. | am also

Inserting pictures of places | went to In the book.

Options:



1. = A book has been written by me in which | am
describing my adventures. Pictures of places | went to are

also being inserted in the book.

2. = A book is written by me in which | am describing my
adventures. | have also Inserted pictures of places | went to

in the book.

3. v A book iIs being written by me in which | am
describing my adventures. Pictures of places | went to are

also being Inserted in the book.

4. = A book i1s being written by me in which | am
describing my adventures as well as pictures of places |

went to are also being inserted In the book.

Question Number : 135 Question Id : 5861806637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
voice.

We had planned to visit Greece in the summer vacation but
have dropped the plan due to cancellation of many flights.

Options:
1. v A visit to Greece had been planned by us but the plan has
been dropped due to cancellation of many flights.

2. » We planned a visit to Greece but the plan was dropped
due to cancellation of many flights.

3. = A visit to Greece was been planned by us but the plan is
being dropped due to cancellation of many flights.



4, = A visit to Greece has been planned by us but the plan has
been dropped due to cancellation of many flights.

Question Number : 135 Question Id : 5861806637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence In

passive voice.

We had planned to visit Greece In the summer vacation but

have dropped the plan due to cancellation of many flights.

Options:

1. v A visit to Greece had been planned by us but the plan

has been dropped due to cancellation of many flights.

2. » We planned a visit to Greece but the plan was

dropped due to cancellation of many flights.

3. = A visit to Greece was been planned by us but the

plan 1s being dropped due to cancellation of many flights.

4. = A visit to Greece has been planned by us but the plan

has been dropped due to cancellation of many flights.

Question Number : 136 Question Id : 5861806638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have been
underlined. Select the words / phrase that contains an error.

The Election Commission has that announcement that re -
polling will take place in booths that reported ‘booth
capturing’.

Options:




1. ¥ has that announcement
2. = that re - polling

3. = will take place

4. = that reported

Question Number : 136 Question Id : 5861806638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have
been underlined. Select the words / phrase that contains an

error.

The Election Commission has that announcement that re -

polling will take place In booths that reported ‘booth

capturing’.
Options:

1. v has that announcement
2. = that re - polling
3. = will take place

4. = that reported

Question Number : 137 Question Id : 5861806639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have been
underlined. Select the words / phrase that contains an error.

Rekha had skills that most girls of her age did not possess but

she does well In exams (o everyone’s surprise.

Options:

1. = had skills




2. = that most girls
3. = did not possess
4. v but she does well

Question Number : 137 Question Id : 5861806639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have
been underlined. Select the words / phrase that contains an

eIrror.

Rekha had skills that most girls of her age did not possess

but she does well In exams to everyone’s surprise.

Options:

1. = had skills

2. = that most girls
3. # did not possess

4. v but she does well

Question Number : 138 Question Id : 5861806640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have been
underlined. Select the words / phrase that contains an error.

Many countries like China, Singapore and Japan amongst
others are routinely ranks in the number one spots in both,
maths and science in standardised tests.

Options:

1. = amongst others

2. v routinely ranks



3. # In the number one spots
4. = In standardized tests

Question Number : 138 Question Id : 5861806640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have
been underlined. Select the words / phrase that contains an

error.

Many countries like China, Singapore and Japan amongst

others are routinely ranks in the number one spots in both,

maths and science In_standardised tests.

Options:

1. = amongst others
2. v routinely ranks
3. ® In the number one spots

4. = |In standardized tests

Question Number : 139 Question Id : 5861806641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have been
underlined. Select the words / phrase that contains an error.

Halfway up the mountain, we were find out that we were
looking down at the scariest fall ever.

Options:

1. = up the mountain

2. v we were find out
3. * we were looking down



4, = at the scariest fall

Question Number : 139 Question Id : 5861806641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have
been underlined. Select the words / phrase that contains an

error.

Halfway up the mountain, we were find out that we were

looking down at the scariest fall ever.

Options:

1. = up the mountain
2. v we were find out
3. » we were looking down

4. = at the scariest fall

Question Number : 140 Question Id : 5861806642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have been
underlined. Select the words / phrase that contains an error.

When you were memorise, try to understand what you are
learning and set your priorities so that you learn only the
most necessary information.

Options:

1. v you were memorize

2. = try to understand
3. » set your priorities
4. = the most necessary information



Question Number : 140 Question Id : 5861806642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the sentence given below, four words / phrases have
been underlined. Select the words / phrase that contains an

eIror.

When you were memorise, try to understand what you are

learning and set your priorities so that you learn only the

most necessary information.

Options:

1. v you were memorize

2. % try to understand
3. = set your priorities

4, = the most necessary information
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Question Number : 141 Question Id : 5861806643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate synonym of the underlined
word.

A thermostat is a device that automatically regulates
temperature.

Options:

1. = Inspects
2. = freezes
3. v controls
4, » eXamines

Question Number : 141 Question Id : 5861806643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

A thermostat I1s a device that automatically regulates

temperature.

Options:

1. = Inspects
2. » freezes

3. ¢ controls



4. = examines

Question Number : 142 Question Id : 5861806644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate synonym of the underlined
word.

To ensure your privacy, you must make sure no one can
wrest control of your gadgets from you.

Options:

1. = dismantle
2. v seize

3. = release

4. = jerk

Question Number : 142 Question 1d : 5861806644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

To ensure your privacy, you must make sure no one can

wrest control of your gadgets from you.

Options:

1. # dismantle
2. ¢ seize
3. % release

4, = jerk

Question Number : 143 Question Id : 5861806645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the most appropriate synonym of the underlined
word.

It is very difficult to get a skeptic to think positively about the
country.

Options:

1. v cynic

2. » wayward

3. = hypocrite

4. = professional

Question Number : 143 Question 1d : 5861806645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

It 1s very difficult to get a skeptic to think positively about
the country.

Options:

1. v cynic

2. » wayward
3. = hypocrite
4, = professional

Question Number : 144 Question Id : 5861806646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the most appropriate synonym of the underlined
word.

Cyclone Fani has caused a lot of damage and devastation in
(Odisha. The calamity has affected millions of villagers.

Options:

1. = disease

2. ® gutcome
3. v adversity
4. = event

Question Number : 144 Question 1d : 5861806646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

Cyclone Fani has caused a lot of damage and devastation

iIn Odisha. The calamity has affected millions of villagers.

Options:

1. = disease

2. % outcome
3. v adversity

4., = event

Question Number : 145 Question Id : 5861806647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the most appropriate synonym of the underlined
word.

We could ascertain that the story by the eccentric gentleman
was fabricated

Options:

1. = delightful
2. v strange

3. = worthless
4. = mysterious

Question Number : 145 Question 1d : 5861806647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate synonym of the underlined word.

We could ascertain that the story by the eccentric

gentleman was fabricated

Options:

1. = delightful
2. v strange
3. = worthless

4, = mysterious

Question Number : 146 Question Id : 5861806648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate ANTONYM of the underlined
word.

The appearance of the Yeti has been baffling all researchers.

Options:




1. = sight

2. = vision

3. v disappearance
4. = coming

Question Number : 146 Question Id : 5861806648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate ANTONYM of the underlined

word.

The appearance of the Yetl has been baffling all researchers.

Options:

1. = sight

2. * vision

3. v disappearance
4. = coming

Question Number : 147 Question 1d : 5861806649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate ANTONYM of the underlined
word.

Being a submissive person, Rita always listens to others’
advice.

Options:

1. * humble

2. v domineering
3. = dishonest

4. = compassionate



Question Number : 147 Question 1d : 5861806649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the most appropriate ANTONYM of the underlined

word.

Being a submissive person, Rita always listens to others’

advice.

Options:

1. = humble
2. v domineering
3. % dishonest

4. = compassionate

Question Number : 148 Question Id : 5861806650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate ANTONYM of the underlined
word.

The concert looked as if it would have varied performances,
but it turned out to be quite boring.

Options:

1. = dreary

2. v monotonous
3. » ambiguous
4. % vague

Question Number : 148 Question Id : 5861806650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the most appropriate ANTONYM of the underlined

word.

The concert looked as If it would have varied performances,

but it turned out to be quite boring.

Options:

1. = dreary
2. ¥ monotonous
3. * ambiguous
4. = vague

Question Number : 149 Question Id : 5861806651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate ANTONYM of the underlined
word.

While I am outgoing, my sister is quite reclusive.

Options:

1. = pleasing

2. = friendly

3. v withdrawn
4. = adventurous

Question Number : 149 Question Id : 5861806651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the most appropriate ANTONYM of the underlined

word.

While | am outgoing, my sister is quite reclusive.

Options:

1. = pleasing
2. = friendly
3. v withdrawn

4. = adventurous

Question Number : 150 Question Id : 5861806652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the most appropriate ANTONYM of the underlined
word.

Sheela was quite suspicious when she found a stranger
lurking around her backyard.

Options:

1. = friendly

2. v trusting
3. = terrified
4. = adjusting

Question Number : 150 Question Id : 5861806652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the most appropriate ANTONYM of the underlined

word.

Sheela was quite suspicious when she found a stranger

lurking around her backyard.

Options:

1. = friendly
2. v trusting
3. = ternfied

4. = adjusting

Sub-Section Number: 2
Sub-Section 1d: 586180447
Question Shuffling Allowed : Yes

Question Id : 5861806653 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

QQuestion Label : Comprehension



Read the following passage and answer the questions that
follow.

How well countries adapt to the Fourth Industrial Revolution
(4IR) will determine whether they ‘thrive’ or ‘stagnate’ and
could further divide workforces and increase social tensions,
according to the latest version of the World Economic Forum’
s Global Competitiveness Report.

Almost 40 years after its first annual assessment of the global
economy, the Forum’s 2018 report uses new methodology to
understand the full impact of the 4IR, and finds factors
including human capital, agility, resilience, openness and
innovation becoming increasingly important.

The new index measures 140 economies against 98 indicators,
organized into 12 ‘pillars’ or drivers of productivity, to
determine how close the economy is to the ideal state or
‘frontier” of competitiveness. The US topped the rankings,
being ‘closest to the competitiveness frontier’, with Singapore,
Germany, Switzerland and Japan completing the top five. At
the other end of the scale, Haiti, Yemen and Chad were found
to be the least competitive economies.

Competitiveness is not only associated with higher incomes,
but also better socio - economic outcomes, including life
satisfaction. The US scored 85.6 out of 100 to top the index,
coming in the top three for seven of the 12 pillars. Its
entrepreneurial culture saw it score highly in the business
dynamism pillar. It also scored highly for its labour market
and financial system.

But, there were several areas which showed it still has more
to do. It notably drops hehind other advanced economies in
the health pillar, with a life expectancy of 67.7 years, putting
it in 46th place. And it was far from the frontier for checks
and balances (40th place), judicial independence (15th) and
corruption (16th).

The top 11 countries all score above 80 points for
competitiveness. Second - placed Singapore (83.5) is defined
by its high score for openness and it leads the way for
infrastructure, with a near - perfect score of 95.7 for its world
- beating transport system.

Germany, in third place, is the highest placed Eurcpean
economy for competitiveness, with particular strength in
innovation capability (first place, with 88), bhusiness
dynamism (82, second behind the US) and health (94). One of
the key findings from the report is that all economies could
do better in certain areas. For example, while Singapore
might be the most ‘future - ready’ economy, Finland outdoes
it for having a digitally skilled workforce.

And while low and middle - income economies can leverage
technology to jumpstart growth, the report emphasises the
importance of ‘old’ developmental pillars, such as governance,
infrastructure and skills. Worryingly, of the 140 economies
surveyed, 117 still lagged behind for quality of institutions,
which impacted their overall competitiveness.

There was also widespread weakness at mastering the
innovation process, with 103 countries scoring lower than 50
when it comes to following through from idea generation to
commercial product.



Sub questions

Question Number : 151 Question Id : 5861806654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the World Economic Forum do?

Options:

1. v It measures countries’ economic progress and determines
how they are faring competitively

2. = It reports on the labour market and financial system of
all countries.

3. # It guides countries in their economic matters and enables
them to achieve fast growth

4, = It guides countries to divide their workforces and
increase social gaps

Question Number : 152 Question Id : 5861806655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which parameters or indicators are important for the WEF
report?

A. Old infrastructure
B. Innovation

C. Resistance to change
D. Commercial growth
E. Human resource

F. Digital awareness

G. Increasing incomes

Options:

1. » ABCE
2. » ADEF
3. v BDEG
4. = BEFG



Question Number : 153 Question 1d : 5861806656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

EMINENT

Options:

1. v distinguished
2. = distorted

3. » dissimilar

4. = disreputed

Question Number : 154 Question Id : 5861806657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On which of the following indicators does Germany score the
highest in the WEF report?

Options:

1. v Innovation

2. = Progressive business culture
3. = Infrastructure

4. » Skilled workers

Question Number : 155 Question Id : 5861806658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What important learning does the report give?

Options:

1. ¥ Majority of the countries are not generating new ideas
and are doing quite badly compared to others.

2. * Commercial products of all countries are poor in quality.

3. = A large number of countries are ready for the future and
are progressing digitally.



4. = Having a skilled workforce is not a problem for most
countries.

Question Id : 5861806653 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that

follow.

How well countries adapt to the Fourth Industrial Revolution
(4IR) will determine whether they ‘thrive’ or ‘stagnate’ and
could further divide workforces and increase social tensions,
according to the latest version of the World Economic Forum’
s Global Competitiveness Report.

Almost 40 years after its first annual assessment of the
global economy, the Forum’s 2018 report uses new
methodology to understand the full impact of the 4IR, and
finds factors including human capital, agility, resilience,

openness and innovation becoming increasingly important.

The new index measures 140 economies against 98
indicators, organized into 12 ‘pillars’ or drivers of
productivity, to determine how close the economy is to the
ideal state or *frontier’ of competitiveness.

The US topped the rankings, being ‘closest to the
competitiveness frontier’, with Singapore, Germany,
Switzerland and Japan completing the top five. At the other
end of the scale, Haiti, Yemen and Chad were found to be

the least competitive economies.

Competitiveness is not only associated with higher incomes,
but also better socio - economic outcomes, including life
satisfaction. The US scored 85.6 out of 100 to top the
index, coming in the top three for seven of the 12 pillars.
Its entrepreneurial culture saw it score highly in the
business dynamism pillar. It also scored highly for its labour

market and financial system.

But, there were several areas which showed it still has
more to do. It notably drops behind other advanced
economies in the health pillar, with a life expectancy of 67.7
years, putting it in 46th place. And it was far from the
frontier for checks and balances (40th place), judicial

independence (15th) and corruption (16th).

The top 11 countries all score above 80 points for
competitiveness. Second - placed Singapore (83.5) is
defined by its high score for openness and it leads the way
for infrastructure, with a near - perfect score of 95.7 for its

world - beating transport system.

Germany, in third place, is the highest placed European
economy for competitiveness, with particular strength in
innovation capability (first place, with 88), business
dynamism (82, second behind the US) and health (94). One
of the key findings from the report is that all economies
could do better in certain areas. For example, while
Singapore might be the most ‘future - ready’ economy,
Finland outdoes it for having a digitally skilled workforce.
And while low and middle - income economies can leverage
technology to jumpstart growth, the report emphasises the
importance of ‘old” developmental pillars, such as
governance, infrastructure and skills. Worryingly, of the 140
economies surveyed, 117 still lagged behind for quality of

institutions, which impacted their overall competitiveness.

There was also widespread weakness at mastering the
innovation process, with 103 countries scoring lower than 50
when it comes to following through from idea generation to

commercial product.



Sub questions

Question Number : 151 Question Id : 5861806654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the World Economic Forum do?

Options:

1. v It measures countries’ economic progress and

determines how they are faring competitively

2. # |t reports on the labour market and financial system of

all countries.

3. = [t guides countries In their economic matters and

enables them to achieve fast growth

4. = |t guides countries to divide their workforces and

increase social gaps

Question Number : 152 Question 1d : 5861806655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which parameters or indicators are important for the WEF

report?

. Old nfrastructure
Innovation

Resistance to change

A

B

C

D. Commercial growth
E. Human resource
F. Digital awareness
G

. Increasing incomes

Options:



1. = ABCE
2. = ADEF
3. v BDEG
4. = BEFG

Question Number : 153 Question Id : 5861806656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

EMINENT

Options:

1. v distinguished
2. » distorted

3. = dissimilar

4. = disreputed

Question Number : 154 Question Id : 5861806657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On which of the following indicators does (Germany score
the highest in the WEF report?

Options:

1. v Innovation
2. * Progressive business culture

3. = Infrastructure

4. = Skilled workers

Question Number : 155 Question Id : 5861806658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What important learning does the report give?

Options:

1. v Majority of the countries are not generating new Iideas

and are doing quite badly compared to others.

2. » Commercial products of all countries are poor in quality.
3. = A large number of countries are ready for the future
and are progressing digitally.

4, = Having a skilled workforce 1s not a problem for most

countries.

Sub-Section Number: 3
Sub-Section Id: 586180448
Question Shuffling Allowed : Yes

Question Id : 5861806659 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the following questions.

Annie Besant was a British social reformer, campaigner for
women's rights and a supporter of Indian nationalism. Annie
Woods was born in London on 1 October 1847. She had an
unhappy childhood, undoubtedly partly due to her father’s
death when she was five. Annie’s mother persuaded her
friend Ellen Marryat, sister of the writer Frederick Marryat,
to take responsibility for her daughter and Ellen ensured that
Annie received a good education.

In 1867, Annie married Frank Besant, a clergyman, and they
had two children. But Annie’s increasingly anti - religious
views led to a legal separation in 1873. Besant became a
member of the National Secular Society, which preached 'free
thought’, and also of the Fabian Society, the noted socialist
organisation.

In the 1870s, Annie Besant and Charles Bradlaugh edited the
weekly National Reformer, which advocated advanced ideas
for the time on topics such as trade unions, national
education, women’s right to vote, and birth control. For their
pamphlet on birth control the two were brought to trial for
obscenity, but were subsequently acquitted.

Besant supported a number of workers’ demonstrations for
better working conditions. In 1888, she helped organise a
strike of the female workers at the Bryant and May match
factory in East London. The women complained of starvation
wages and the terrible effects on their health of phosphorus
fumes in the factory. The strike eventually led to their bosses
significantly improving their working situation.

Social and political reform seems not to have satisfied
Besant's hunger for some all - embracing truth to replace the
religion of her youth. She became interested in Theosophy, a
religious movement founded in 1875 and based on Hindu
ideas of karma and reincarnation. As a member and later
leader of the Theosophical Society, Besant helped to spread
Theosophical beliefs around the world, notably in India.

Besant first visited India in 1893 and later settled there,
becoming involved in the Indian nationalist movement. In
1916 she established the Indian Home Rule League, of which
she became president. She was also a leading member of the
Indian National Congress.

In the late 1920s, Besant travelled to the United States with
her protégé and adopted son Jiddu Krishnamurti, who she
claimed was the new Messiah and incarnation of Buddha.
Krishnamurti rejected these claims in 1929. Besant died in
India on 20 September 1933.



Sub questions

Question Number : 156 Question Id : 5861806660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ellen gave Annie great support because she:

Options:

1. = took care of Annie when she was born.

2. v helped in her studies after her father’s death.

3. = cared for Annie’s mother when she was unwell.
4. = helped Annie in her freedom struggle.

Question Number : 157 Question Id : 5861806661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Raising issues such as women’s right to vote and birth control
are referred to as ‘advanced ideas’ by the writer because:

Options:

1. = these were frequently discussed by all national reform
movements.

2. = these were important national issues for reforms and
needed attention.

3. v these radical issues relating to women were so far not
being given priority.

4. = Annie and her associates were making a lot of progress in
these matters.

Question Number : 158 Question 1d : 5861806662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For which activity was Annie dragged to the court?

Options:

1. = Supporting many workers' demonstrations.
2. v Raising her voice regarding birth control.

3. = Organizing a strike of women workers.

4. = Joining the Home Room League.



Question Number : 159 Question 1d : 5861806663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is NOT true.

As a result of the Bryant and May match factory case the
working women’s :

Options:

1. * work conditions improved.

2. v health got worse.

3. = bosses changed their attitude.
4. = problems gained attention.

Question Number : 160 Question Id : 5861806664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What difference of opinion did Annie have with Jiddu
Krishnamurti?

Options:

1. = He stated that he was God in a new form.

2. v He denied that he was a messenger of God and Buddha
reborn.

3. » He refused to accept he was her adopted son.
4. = He rejected the idea of travelling to the US with her.

Question Id : 5861806659 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the following questions.

Annie Besant was a British social reformer, campaigner for
women's rights and a supporter of Indian nationalism. Annie
Woods was born in London on 1 October 1847. She had an
unhappy childhood, undoubtedly partly due to her father's
death when she was five. Annie's mother persuaded her
friend Ellen Marryat, sister of the writer Frederick Marryat,
to take responsibility for her daughter and Ellen ensured

that Annie received a good education.

In 1867, Annie married Frank Besant, a clergyman, and
they had two children. But Annie's increasingly anti -
religious views led to a legal separation in 1873. Besant
became a member of the National Secular Society, which
preached 'free thought', and also of the Fabian Society, the

noted socialist organisation.

In the 1870s, Annie Besant and Charles Bradlaugh edited
the weekly National Reformer, which advocated advanced
ideas for the time on topics such as trade unions, national
education, women’s right to vote, and birth control. For their
pamphlet on birth control the two were brought to trial for
obscenity, but were subsequently acquitted.

Besant supported a number of workers' demonstrations for
better working conditions. In 1888, she helped organise a
strike of the female workers at the Bryant and May match
factory in East London. The women complained of starvation
wages and the terrible effects on their health of phosphorus
fumes in the factory. The strike eventually led to their

bosses significantly improving their working situation.

Social and political reform seems not to have satisfied
Besant's hunger for some all - embracing truth to replace
the religion of her youth. She became interested in
Theosophy, a religious movement founded in 1875 and
based on Hindu ideas of karma and reincarnation. As a
member and later leader of the Theosophical Society,
Besant helped to spread Theosophical beliefs around the

world, notably in India.

Besant first visited India in 1893 and later settled there,
becoming involved in the Indian nationalist movement. In
1916 she established the Indian Home Rule League, of
which she became president. She was also a leading

member of the Indian National Congress.

In the late 1920s, Besant travelled to the United States with
her protégé and adopted son Jiddu Krishnamurti, who she
claimed was the new Messiah and incarnation of Buddha.
Krishnamurti rejected these claims in 1929. Besant died in
India on 20 September 1933.



Sub questions

Question Number : 156 Question Id : 5861806660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ellen gave Annie great support because she:

Options:

1. = took care of Annie when she was born
2. v helped in her studies after her father’'s death
3. = cared for Annie’s mother when she was unwell

4. = helped Annie In her freedom struggle

Question Number : 157 Question Id : 5861806661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Raising i1ssues such as women’s right to vote and birth
control are referred to as ‘advanced ideas’ by the writer

because:

Options:

1. = these were frequently discussed by all national reform

movements.

2. » these were Important national I1ssues for reforms and

needed attention.

3. v these radical issues relating to women were so far not
being given priority.
4. = Annie and her associates were making a lot of

progress In these matters.

Question Number : 158 Question Id : 5861806662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For which activity was Annie dragged to the court?

Options:



1. = Supporting many workers' demonstrations
2. v Raising her voice regarding birth control
3. = Organizing a strike of women workers
4,

* Joining the Home Room League

Question Number : 159 Question Id : 5861806663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is NOT true.

As a result of the Bryant and May match factory case the

working women’s

Options:

1. = work conditions improved

2. v health got worse

3. = bosses changed their attitude
4,

« problems gained attention

Question Number : 160 Question Id : 5861806664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What difference of opinion did Annie have with Jiddu

Krishnamurti?

Options:

1. = He stated that he was God In a new form.

2. v He denied that he was a messenger of God and
Buddha reborn.

3. » He refused to accept he was her adopted son.

4. = He rejected the idea of travelling to the US with her.
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Question Number : 161 Question Id : 5861806665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST AT 9ET, 372

Options:

1. # dege
2. % gogd
3. v 28T

4, = Taes

Question Number : 161 Question Id : 5861806665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘SYIT’ ShAT eTeg &7



Options:

1. » d&d
2. = dcdH
3. v 2o
4. = fagei

Question Number : 162 Question Id : 5861806666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & T I T <1ee; dgd 32

Options:

1. = MUTeT
2. % TIEH
3.« MF
4, v T

Question Number : 162 Question Id : 5861806666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feeT & & i OT o6g diaT &7

Options:
1. = aNYTel
2. = YA

3. = T
4. v IMT

Question Number : 163 Question 1d : 5861806667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & T BT 9T 9o aoaw g7

Options:

1. * T
2. v THT
3.+ g



4. % Togl

Question Number : 163 Question 1d : 5861806667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeT & O hid T olsg dcgH &7

Options:

1. = A%
2. v SHd

3.« ad
4. = gegl

Question Number : 164 Question Id : 5861806668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g # & [ eI oTeT e, 3

Options:

1. v UII9®
2. % YiSd
3. * T
4. = qres®

Question Number : 164 Question Id : 5861806668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & & g TAer arel oree &:

Options:

1. v R
2. » YRR
3. = URTE+
4. = yrgeiTeR

Question Number : 165 Question Id : 5861806669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘I — SN e, FTH P T 377 8




Options:

1. * Gl — oI&T
D, % %JW— o

3. * SITEf — TofW
4. v T — AT

Question Number : 165 Question Id : 5861806669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'3IAA - IETH AeE JIA KT [ET 3 &

Options:

1. = @Iel - o8

Question Number : 166 Question Id : 5861806670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. v TSR
2. * TTdaTdd

3. % ShdTD

4. * STddT<ID

Question Number : 166 Question Id : 5861806670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS TRE R kT T B?

1. v HATIdAdh
2. = UErdaraeh

3. * STFddrd<h




4. = AT

Question Number : 167 Question Id : 5861806671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

G el T UrerTds o2 g

Options:

1. = T9T
2. % ogT
3. v adT
4. % J9T

Question Number : 167 Question Id : 5861806671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y TAATH hT FoTarreh fGeIvor &

Options:

1. = O@T

2. = a4gr

3. v adar

4. = ST

Question Number : 168 Question Id : 5861806672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T YpIR T TALAYT g2

Options:

1. = HIAATHER

2. v TUETI®
3. = TLHTIT SeTh

4. » EIATID

Question Number : 168 Question 1d : 5861806672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TATAT T Uh T FAWOT §7

Options:




R ICGIEED
4 dt:I’UIdI‘CJGh
gRATOT STk

« HEATdIIH

ol
#®

Question Number : 169 Question Id : 5861806673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=g # arndd U1 8

Options:

1. * SetAT
2. % BAT

3. v g1
4. % JISAT

Question Number : 169 Question Id : 5861806673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fare & sthas aq &

Options:

1. = Elelell
2. % BT
3. v #Hal
4. = SNSAT

Question Number : 170 Question Id : 5861806674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T 9D 1T DA g’ AT | TohaT Terdhu 3

Options:

1. % g
2. v U
3. &1




4, « o gl

Question Number : 170 Question Id : 5861806674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TH &FRT &1 R Bl g | fohar faeivor &:

Options:

1.« A
2. v EFHRT
3. % &
4. = HId 8l

Question Number : 171 Question Id : 5861806675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AW T I8 Tawde, g

Options:

1. * IT + 370
2. % T+ 0

3. = i + MU
4, v i + 30

Question Number : 171 Question Id : 5861806675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T &1 AT faTde grem:

1. = Jor + Y
2. = oy +

3. = Ife + 39
4, v If¢ + 30

Question Number : 172 Question Id : 5861806676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g’ # DI 97 gAY g2



Options:

1. Ty
2. % &

3. % T
4, = EFATATT

Question Number : 172 Question Id : 5861806676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GEeTE A Fle @ dA &7

Options:

1. v ggalg
2. % oded

3. = fe@er

Question Number : 173 Question 1d : 5861806677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G ¥ Ty ST T TN g3 g2

Options:

1.9
2. v Y
3.+ qq
4.« TH

Question Number : 173 Question Id : 5861806677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘W’ﬁﬁ?ﬂmﬁmgmﬁ?

Options:

1. = @
2. v §H
3. » HH



4. = IH

Question Number : 174 Question Id : 5861806678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘ITETUHT # Tehdg e &7 TINT §3IT 2

Options:

1. = 3T
2. W
3. = HT
4, v SHT

Question Number : 174 Question Id : 5861806678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘BOTAT H Tofg U = 1;re:|’|?T§3ﬂ &7

Options:

1. = 37

2. = H
3. = HAT

4. v ZHT

Question Number : 175 Question 1d : 5861806679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & P T S ST 32

Options:

1. % TveAT
2. % Iel
3. v ™idcqr
4, » A

Question Number : 175 Question 1d : 5861806679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeT A hid &T 2ec T &7

Options:




B~ W N =
<

x AFEAT

Question Number : 176 Question Id : 5861806680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHgUT & ETE [T T8 DT IETELT 37

Options:

1. v T U=
2. * GAATH UCaY
3. = TSy uee-e
4, = TopdT Uce~¢

Question Number : 176 Question Id : 5861806680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FNRTHT o 3TeTe fohd Ucaeel &1 38T &7

Options:

1. v FaT Ugded
2. * HAATH Ugded
3. = TaeIYUT Uygeeyr
4. = TohaT UgEed

Question Number : 177 Question Id : 5861806681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ag T, ST 3[T8T IT, Ig Wi I 387 g1’ a1erd # TSa-T 3eoT a7

Tehd YR T JUeITrY g?

Options:

1. * 9T IUaTHT
2. % TopdT SUATF
3. = TpaT AU JUSTTRT




4, v AT IJUTFI

Question Number : 177 Question 1d : 5861806681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘e =X, TSddT 3BT AT, I§ HT 3ddT I<ST g1’ gy A

TSTaT 3aT ar TFT TR T 39ared 7

Options:

1. » AT 39drey

« TohdT 3UaTay
« TordT TaeivorT 3Uarey
4. v TANUT IUGRT

Question Number : 178 Question 1d : 5861806682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S TG ATDIUT gIdT 3, IYDT AT TUT P 31’ [ ThR OT q1aT 572

Options:

1. # ITeT dTHY
2. v Ty amag
3. * GYh qTFY
4, = 3T

Question Number : 178 Question Id : 5861806682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S oGk Alhivd BIdT g, 3Hl AT TAT hid oI’ g

TR T ATFT &7

Options:

1. = Il ATy

2. v T8 gy

3. = H-gcrd CIERS

4, = 3I0dag



Question Number : 179 Question Id : 5861806683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCSHH T &8 & I 9T a1 e 87

Options:

1. % O AT T § FAT?
2. % ST TGT & &T GouT?
3. v AT PO AT ET 82
4, = &g ST GT g Pour?

Question Number : 179 Question Id : 5861806683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qeshA T ECC & e AT AT A& &7

Options:

1. = ST ST 3T § 17
2. = ST T@T § AT Fo0T?

3. v T FUT ST T &7
4. = FIT ST TGT & Fo0I?

Question Number : 180 Question Id : 5861806684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ray Bl S8 ¥ Al 4T 1T Y 572

Options:

1. v MUTe 7 U T 31 Uh A9 U
2. = TUTeT 7 U T 31X U A9 Gl
3. % MUTeT 7 U T 30T U 9 G|
4. = MUTS 7 U T 3R T A9 G|

Question Number : 180 Question Id : 5861806684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3eay I TCC & hile @7 AHT UG &7

Options:

1. v YTl o Tk T 3 veh g =ET




2. % INYTSl o Tk T 30T vk g =T
3. = INYTST o Teh I 3T vk dg =)
4. = YTl o Tk I 3T vk g =
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Question Number : 181 Question Id : 5861806685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“STRTS T TATAATT 52

Options:

1. veaqia
2. % 3ol

3. % Ug




4, % g

Question Number : 181 Question Id : 5861806685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ATRTRI T TIARIGRT &7

Options:

1. v SNH

2.
3. ® 9l
4.

Question Number : 182 Question Id : 5861806686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qTUp 2T Tl Y X

Options:

1. = ST
2. % T6igg
3. % 37
4. v 179

Question Number : 182 Question Id : 5861806686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FOT T TITIERT e &
Options:

1. % e
2.« frcham
3. = 89
4

v FYE

Question Number : 183 Question Id : 5861806687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Tt Tt 32



Options:

1. = &7
2. % Srar
3. v UAA
4. » T

Question Number : 183 Question Id : 5861806687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

3. v O

4. = TopTor

Question Number : 184 Question 1d : 5861806688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X Rmrepr Tt 27

Options:

1. = dTceT
2. v T
3. % Tod

4. % &

Question Number : 184 Question Id : 5861806688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = dTGel
2. v TGUT
3. » Jad



4., = I

o,

Question Number : 185 Question Id : 5861806689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

STt [har Taiadar! gl 87

Options:

1. v Ul
2. % el
3. = @dr
4, % g

Question Number : 185 Question Id : 5861806689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v TgOT
2. % hH
3. % HIAr
4, *

® QUL

Question Number : 186 Question Id : 5861806690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“SMTHT T Tl SIec 3

Options:

1. * 42T
2. % YR
3. % Yo
4, v T

Question Number : 186 Question Id : 5861806690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HATHT T TdollH eTeg &

Options:




1. % WS
2. % YehruTe
3. » Waled
4, v TEATA

Question Number : 187 Question Id : 5861806691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“ITEIAT T el gI:
Options:

1. » &N
2. ¢ Q4+
3. * GABIAT
4, * A

Question Number : 187 Question Id : 5861806691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3T’ HT TdlH g

Options:

1. = oAdlel
2.&*‘1113?

3. ® HFToll

4.*3@?

Question Number : 188 Question Id : 5861806692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TG fhgar denw g?

Options:

1. » ST
2. * FETT

3. v 3G



4, % UZI

Question Number : 188 Question 1d : 5861806692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = 3fefenlor
2. = ORI
3. v 39EIOT
4. = 3T9EI0T

Question Number : 189 Question Id : 5861806693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GUR g @EAT ¥ W g1’ Uih o iTehd U, ol Telel | GIT:

Options:

1. * @IST
2. * GFG
3. » Afcet
4. v G

Question Number : 189 Question Id : 5861806693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEX 7 TEEA F 317 1’ Ul & IR eeg T fdeltdA gHEm:

1. = SideT

®

2.
3. =
4.

¥

4

Question Number : 190 Question Id : 5861806694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g a1 ReRw T



Options:

1. » T
2.« [aoIg
3. v el
4. * Ay

Question Number : 190 Question Id : 5861806694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g &1 faa# &

Options:

Sub-Section Number: 2
Sub-Section 1d: 586180451
Question Shuffling Allowed : Yes

Question Id : 5861806695 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

WRT T Y 3R GTY ATST T AT ATI o FrAdarey FIga & U =il
USIIT Ue HSTHTT WTEL3MT Y ATy Tg! TellepTidl, siiech I Dl DSl Dhgdr gl
e I ToTT T, P 3N UH & T AT AFST gl FehdT gl

&, GUTSTPEATI NEHT Pl AR TedadT MEdT gdH| HIXT 4 AedPrer § g1
USTWT T TeIre ThdTl USTHT A6 gl & TUDRT BT g gl UTEAT
gt & §g ST, TR STeHT Qe Yuc TIToR § s & elq S g gl
AT 30 F ThaT B I Lilell gaTq Siter & Tolq gli-hren o, Tind &R -
¢ 3T UTadT Ua YIS G€PR 9 TS0 ST & Tolq 3=eard &7 1Tl
oTelT ST o TorQry 1purt & TI9T ST o9 30T @t Te@eT e | ¢,

STeTHT, DT, ST, dTg< MdherT, THTS § T I & 311 U 3T o

T GST B [Tl

Sub questions

Question Number : 191 Question Id : 5861806696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIS # fhganT 3eeld a7

Options:

1. = wgrea

2. v 0T

3. % gWeT g
4, = TT&HT qT5

Question Number : 192 Question Id : 5861806697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SR T 3ref BT &

Options:

1. v O

2. % ATh
3. % gdq

4, = I




Question Number : 193 Question 1d : 5861806698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G T A T &

Options:

1. * FGaT AT
2. v GIcHT Al
3. ® H AT

4, » I P

Question Number : 194 Question 1d : 5861806699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTErier § Tohg WA it AT BT I Dgl AT g7

Options:

1.  gargar
2. * §Tof g
3. % EYLIT
4. v USTqeT

Question Number : 195 Question Id : 5861806700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSTHTL BT 37 3

Options:

1. v Wgd
2. = JTHd

3. % QAT

4, * T

Question Id : 5861806695 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

ART T | 3 I AT FT AT AT T FTATAR
Aellgicd & Ed 3N, AYSRT Ud HSTeTer TYait Sl @rey 78l
TR, Sfesh 3T T F3T Fgl & m%gﬁﬁ?ﬁtfqm, FHEUT]
ST WA H IR EIT AST &1 Hhedl &1 HTAGETIRT, FFesheny
Ud ekl HTY oT6l, ATY Tg & ToTeehl ATelaar Jeil &,
HATSTReATOT ST e 3T Taaaar awr g @17 o
Aegehel # & geiwdr &1 AUy foham geiver AT gt &
HTYRRT T Golel g1 IEEATAT &1 H A Tohetl, T ST T
HOe TR0 & §da & U T 95y a4 JAe 30 & foRar
I | IATel FAT Siael & v gifeteheh off, foh X - o
38 9IaFdT U9 OTfHeh TR 8 ISR Tl & folv sAfaard ar
fem| ofostr TAT & T4y Uil # TAelr et ofem| el 1 fezren
v TS AT, AVelell, Tolell, SGall, STgl Tasholdl, THATST H
3T T o 36T YaT 3 ofoaiT &l 8T T fe|

Sub questions

Question Number : 191 Question Id : 5861806696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A ToRERT oot g7

Options:

1. = H@Ear

2. v HAT

3. = g Tl
4, % AEHT ST

Question Number : 192 Question Id : 5861806697 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

LI T 3T BT &

Options:

1. v A g
2. = oL
3. » @acd
4, = $TET

Question Number : 193 Question Id : 5861806698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Felel ST 37T BT &

Options:

1. = S&rar el

2. v TIcHAT hiaT|

3. % hH RLdATl|

4. = TagTUT FLATI

Question Number : 194 Question Id : 5861806699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H TohE WAT T ATAATERR T Folel hal AT &7

Options:

1. = FATTAT

2. % ®Tel [AdIg

3. * 3(EYRYCT
4. v YT

Question Number : 195 Question Id : 5861806700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT T 3T &:

Options:



Sub-Section Number: 3
Sub-Section 1d: 586180452
Question Shuffling Allowed : Yes

Question Id : 5861806701 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

Tedcr I & Tg=<1 o sreatiet WX 945 & Sy fed! Wl & crarant #
31, GRIAT I YTUT T AT T gH [SGATIT USdT gl Ig Ter S SMelie
qar gl &t Thq Preavdl df A # Ig 3cdd GIID §s gl ollel]
WITCITIEN o <haler hiet, THATHRTS, STTATIEE AT 7 THgl Iads i
ZIpT TIgIy W@ At gie o o= uAar &t car eraaw 4 [¥g
TepdT Teh ETepT TeT@ &l T T~elUUT & MY & i Agea Ul ATgl gl Tgeldl
I bl UGG TAATdT Tg=c JATATaAT i GURETE URT Tl Tad AgTeil
TS, TEeldl 39 4RI & Feliitien Hgeayqul gedTar 1 fgad) Sit & 31idih
LTI T, elTell "I 59 0T & S 3MTelrad A1 Tgeldr Sit 1903
g0 T I UTAPT & UTEH o1 3T UTAahT 7 3N A=Y Tl = Tl
ST BT IST 3G ThATI THTAATT ST = gl AR U1, Tgd<) i
iRt Teh #gT TA&R’ chi YHDT § Dhelol ATTgcdehL i Tgl’| eTEd:
TEadT St Tg=cr |TuT & AN 1T 31 & =gl [g=aT 9rur o7 €7 18R T
IILAd! Ul § BUA dfet Mere & fgad] St YTadrei qeia ol Sism
TAT 28 BT AT B §, SIHBT THTE TchToll oS Dieral ATAeiT 2R T8,
IRATEAT T8 SUTEATY, ‘Fiaier 3MTie, il I uan fgadl S smaied
STTIRAT Dt Yligcd o GATT &1 & el gl DIRD GHE <l

Sub questions

Question Number : 196 Question Id : 5861806702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTEITSr ® vl [au @ e, 3

Options:

1. » ATddTer

Question Number : 197 Question Id : 5861806703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IFIAr o7 3T 3



Options:

1. * 3rvear
2. % PEUAT
3. v THUZET
4. % rcTTTdmdT

Question Number : 198 Question Id : 5861806704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IweTUr @ 3 g

Options:

1. * 3T
2. v @il

3. = TUEUToT
4. % 3T

Question Number : 199 Question Id : 5861806705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeardT it fg=<r sretrarr &t yg@ ferdrwar a4t 32

Options:

Question Number : 200 Question Id : 5861806706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R off v Yo @Y 1S Y AT e

Options:

1.+ ST vaf
2.« T vE

3. * QURET] e
4, * STTURD Yl



Question Id : 5861806701 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

fegadr ga1 # f&edr & Sregarl 9w Avs @1 S fo@d a3
o IRt # 3, gleaar @ 9T T 3T ToeT g8 Eem
ISl &1 AE ARG 3Mellerer of wgh o7 fone Freaaral 1 qasme
H I8 Td I8+ 55 &1 ITelT $TaTaTalclel @ herd shidel,
TOraToeRTeT, SeTeaTUE Iy of TO8RT Tads ! éﬁw SERICA
et e e & Qe a3 &1 S o a8 Ne
fopar fo Srepr formal T 1 HedWoT T oty & A Agcaqur
et g1 fegadr Jar 1 vaE [aRdr Redl sieiere $T gurardy
INT TET| T AR TH1G T@adl 39 oORT & §ade
HgcaquT g&crelt | fegdel Sit & 3faRed eqmAgeel a9,
STl $TdTelclel 36 IoT o &3 3feiraeh 4| fegddr St 1903 o
H GIEgdar giaehT & HUTGer &el| SH AR o A AR
fegadl & T&«dl SToTd T o187 38N TohdT| THTACTE eTHT of hal
HAEAR wHTE Tegaddl 1 fAST Tk Al ‘Tererer’ 1 offAHr &
el HlMgcdh T A8l aFda: fqgdear S fgear smr
AT % & & [oieglel f&ear oo 1 &7 [Fuw foram aead
qTIRT H ©el arel foieal # fagadr it {ifdehreilel wgicd o
BISHY AT TI0C T TEATT A &, Toldhl THTT doehlelld &3
STl W UST| fegadr ST (AT HmRehdr ST @iged T
HATST alal & ToIT &faieheh AT 4

Sub questions

Question Number : 196 Question Id : 5861806702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Aregrer H it g &1 &g &

1. » ffdesrer
2. » $Rdeg ol
3. v ﬁﬁﬁﬂﬂ
4, » BYES

Question Number : 197 Question Id : 5861806703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GIEIar 1 3R &

Options:

1. = 3THEAT
2. % FEAAT
3. v TAUIRICT

4. % 3ToTRILRd]

Question Number : 198 Question Id : 5861806704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FedVOT FT I &

Options:

1. = 3fefhlor
2. v @
3. = fOsggwor
4. = Seeldel

Question Number : 199 Question Id : 5861806705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fe@adr gofrer fgedr nalrae HT wam faeivar Hia @ §7

Options:



% QILOLTETET RT
S EIGCICIIIY|
% SRITIehTT Y]
wgumﬁw

Question Number : 200 Question Id : 5861806706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fegadr ST fore ugfca T ©Iga HT a1d T 87

Options:

1.@%@?9@%
2. = oTdrel ugfcd

3. » gYURAmET ugicd
4. = MTF Ygica

ol




